EQUIPMENT

CATALOG

CHAIN DRIVE SPROCKETS

CHAIN GUIDE RAILS & TENSIONERS
GEARS

TERMOPLASTIC GEARS

PULLEYS

CLAMPING ELEMENTS

COUPLUNGS

BALL FLANGE BEARINGS & RODS ENDS

&
&»

SCHIKI

MOVING YOU FORWARD,



PAGE

TIMING BELT BARS 223

Q IINC PLATED FLANGES FOR PULLEYS 230
W CLAMPING BELT PLATES 233
o V-BELT PULLEYS FOR TAPER BUSH 236
° POLY-V PULLEYS FOR TAPER BUSH 266

CLAMPING ELEMENTS

274
279

OCKING ASSEMBLIES 282

89

[[CKING ASSEMBLES W STANEES STEE] 297

< 304

6 @ 306

@ [ ) AP COLARS W STAESS 5TEE] 310
N 4

TORSIONAL FLEXIBLE COUPLINGS“GEB* 314
FLEXIBLE COUPLINGS BACKLASH “GEB-SG*“ 319
TORSIONAL FLEXIBLE COUPLINGS “GEB-HRC* 32 2

GEAR COUPLINGS “GFB* 3 24

RIGID COUPLINGS 326

WNaie




MOVING YOU FORWARD,

&
p SCHIKI




MOVING YOU FORWARD.

TAPER BUSHES - TECHNICAL DATA 5 SCHIKI

Characteristics

The taper bushes allows to align or to lock pulleys, sprockets or toothed couplings to a transmission shaft, quickly and without the
use of equipment.

The taper bushes is equipped of bore and keyway.

The taper bushes allows an elastic recovery of tolerances and can be re-used after a replacement.

Assembly
Make sure that the tapered surfaces are clean, free of oils or powders.

Place the bushes in the wheel so as to align the holes.

Place the screws into the threaded holes, loosely.
Clean the transmission shaft and then mount the wheel and the bushes,

pointing out that the bushes holds the transmission shaft first and then the wheel.

With a hex key tighten the screws gradually and alternately.

Check the closing of the screws after a short period of operation.

Disassembly

Loosen all the screws and remove one or two screws depending on the holes

of the disassembly.

Insert the screws into the holes for dismantling. Tighten the screws alternately
until the relaxation of the bushes. Continue until the group is not free on the
transmission shaft.

Remove the bushes and the wheel from the transmission shaft.

@ DISASSEMBLY HOLES

o7 www.schikibelting.com



SCHIKI

MOVING YOU FORWARD,

TAPER BUSHES

D1
d
|
T
I
|
|
|
|
i

L
BUSHES 1008 BUSHES 1108

Main Diameter (D1) = 35 Screw BSW =1/4" Main Diameter (D1) = 38 Screw BSW =1/4"
Lenght (1) = 22,3 Tightening torque = 5,6 Nm Lenght (1) = 22,3 Tightening torque = 5,6 Nm
Iliam.ll holes code Keywa; width KeywaTx; depth K. Iliam.[1 holes code Keywa; width KeywaT); depth K.
10 391008010 3 14 0,13 1 391108011 4 18 0,16
1 391008011 4 18 0,13 12 391108012 4 18 0,15
12 391008012 4 18 0,12 14 391108014 5 2,3 0,15
14 391008014 5 2,3 0,12 15 391108015 5 2,3 0,14
15 391008015 5 2,3 0,1 16 391108016 5 2,3 0,14
16 391008016 5 2,3 0,11 18 391108018 6 2,8 0,13
18 391008018 6 2,8 0,10 19 391108019 6 2,8 0,13
19 391008019 6 2,8 0,10 20 391108020 6 2,8 0,12
20 391008020 6 2,8 0,09 22 391108022 6 2,8 011
22 391008022 6 28 0,08 24 391108024 8 33 0,10
24 391008024 8 13 0,07 25 391108025 8 33 0,09
25 391008025 8 13 0,07 28 391108028 8 13 0,07

Main Diameter (D1) = 47 Screw BSW=3/8" Main Diameter (D1) = 47 Screw BSW=3/8"
Lenght (L) = 25,4 Tightening torgue = 20 Nm Lenght (L) = 38,1 Tightening torgue = 20Nm
niam.ll holes code Keywa: width KeywaT); depth K. Iliam.[I holes code Keywa: width KeywaT); depth K.

1 39121001 4 18 0,28 12 391215012 4 18 0,39
12 391210012 4 18 0,28 14 391215014 5 2,3 0,38
14 391210014 5 2,3 0,27 16 391215016 5 2,3 0,37
15 391210015 5 2,3 0,26 18 391215018 6 28 0,35
16 391210016 5 2,3 0,26 19 391215019 6 28 0,34
18 391210018 6 2,8 0,25 20 391215020 6 2,8 0,34
19 391210019 6 2,8 0,24 22 391215022 6 2,8 0,32
20 391210020 6 2,8 0,24 24 391215024 8 33 0,29
22 391210022 6 2,8 0,22 25 391215025 8 33 0,29
24 391210024 8 33 0,21 28 391215028 8 33 0,26
25 391210025 8 33 0,21 30 391215030 8 33 0,23
28 391210028 8 3,3 0,18 32 391215032 10 3,3 0,20
30 391210030 8 33 0,17
32 391210032 10 33 0,15

www.schikibelting.com 275



TAPER BUSHES

D1

SCHIKI

MOVING YOU FORWARD.

L
BUSHES 161 - msmsen

Screw BSW =3/8”
Tightening torque = 20 Nm

Main Diameter (D1) = 57
Lenght (L) = 25,4
Diam. holes
d
12
14
15
16
18
19
20
22
24
25
28
30
32
35
38
40
42

391610012
391610014
391610015
391610016
391610018
391610019
391610020
391610022
391610024
391610025
391610028
391610030
391610032
391610035
391610038
391610040
391610042

Keyway width

©® o @ L @ O o o g g g A~

Keyway depth
12 Kg.
18 0,41
2,3 0,41
2,3 0,40
2,3 0,40
28 0,39
2,8 0,38
2,8 0,38
2,8 0,37
3,3 0,36
33 0,35
33 0,32
3,3 0,30
33 0,29
33 0,26
33 0,23
33 0,21
33 0,19

Main Diameter (D1) =57
Lenght (L) = 38,1

Diam. holes

391615012
391615014
391615016
391615018
391615019
391615020
391615022
391615024
391615025
391615028
391615030
391615032
391615035
391615038
391615040
391615042

Screw BSW =3/8”
Tightening torque = 20Nm

Keyway width  Keyway depth

©® © @ L & & o o o g

12 Kg.
18 0,60
2,3 0,58
2,3 0,58
2,8 0,56
2,8 0,55
2,8 0,55
2,8 0,53
33 0,50
3,3 0,49
33 0,47
33 0,45
33 0,41
33 0,38
33 0,32
3,3 0,29
2,2 0,26

Screw BSW =7/16"
Tightening torque = 31Nm

Main Diameter (D1) =70
Lenght (L) = 31,8
Diam. holes
d
15
16
18
19
20
22
24
25
28
30
32
35
38
40
42
45
43
50

276

392012015
392012016
392012018
392012019
392012020
392012022
392012024
392012025
392012028
392012030
392012032
392012035
392012038
392012040
392012042
392012045
392012048
392012050

Keyway width

© o ® o o o

Keyway depth
12 Kg.
2,3 0,78
2,3 0,78
2,8 0,76
2,8 0,76
2,8 0,75
2,8 0,74
3,3 072
33 on
33 0,68
33 0,66
3,3 0,64
3,3 0,60
3,3 0,57
33 0,54
33 0,51
3,8 0,46
3.8 0,40
3,8 0,37

Main Diameter (D1) = 85
Lenght (L) = 44,5

Diam. holes

392517015
392517018
392517019
392517020
392517022
392617024
392517025
392517028
392517030
392517032
392517035
392517038
392517040
392517042
392517045
392517048
392517030
392517055
392517060
392517065

ScrewBSW =1/2”
Tightening torque = 48 Nm

Keyway width  Keyway depth

© ®© ©® L O @ o

12 Kg.
2,3 1,65
2,8 1,62
2,8 1,62
2,8 1,60
2,8 1,57
33 1,57
3,3 1,56
33 1,52
33 149
33 1,45
33 1,40
33 1,40
33 1,35
33 121
3,8 1,20
3,8 1,13
3,8 1,08
43 0,96
44 0,81
3,3 0,65

www.schikibelting.com



TAPER BUSHES SCHIKI
MOVING YOU FORWARD,
i
al °f T———~ — - - = al °f T———~ —
i
|
i
|
L 3020 - 3030 L 3525- 3535
Main Diameter (D1) =108 Screw BSW =5/8" Main Diameter (D1) =108 ScrewBSW =5/8"
Lenght (L) = 50,8 Tightening torque = 90 Nm Lenght (1) =76,2 Tightening torque = 90 Nm
Iliam.ll holes code Keywa: width KeywaTx; depth K. Iliam.ll holes code Keywa; width KeywaT); depth K.
20 393020020 6 2,8 2,98 30 393030030 8 3,3 410
25 393020025 8 33 2,91 35 393030035 10 3,3 3,95
28 393020028 8 3,3 2,719 38 393030038 10 3,3 3,86
30 393020030 8 33 2,84 40 393030040 12 3,3 3,82
32 393020032 10 33 2,80 42 393030042 12 3,3 3,69
35 393020035 10 33 2,15 45 393030045 14 38 3,95
38 393020038 10 33 2,67 43 393030048 14 38 3,45
40 393020040 12 33 2,64 50 393030050 14 38 3,42
42 393020042 12 33 2,59 55 393030055 16 43 3,18
45 393020045 14 38 2,52 60 393030060 18 44 2,95
43 393020048 14 38 2,43 65 393030065 18 44 2,68
50 393020050 14 38 2,37 n 393030070 20 49 2,38
55 393020055 16 43 2,23 75 393030075 20 49 2,03
60 393020060 18 44 2,07
65 393020065 18 44 1,89
n 393020070 20 49 1,69
75 393020075 20 49 1,49
Main Diameter (D1) = 127 Screw BSW =1/2” Main Diameter (D1) = 127 ScrewBSW =1/2”
Lenght (L) = 63,5 Tightening torque = 112 Nm Lenght (L) =89 Tightening torque = 112 Nm
niam.ll holes code Keywa: width KeywaT); depth K. Iliam.[I holes code Keywa: width KeywaT); depth K.
30 393525030 8 3,3 5,02 30 393535030 8 3,3 6,84
35 393525035 10 3,3 491 35 393535035 10 3,3 6,70
38 393525038 10 3,3 4,85 38 393535038 10 3,3 6,53
40 393525040 12 3,3 4,80 40 393535040 12 3,3 6,48
42 393525042 12 3,3 4N 42 393535042 12 3,3 6,40
45 393525045 14 3.8 4,67 45 393535045 14 3.8 6,25
48 393525048 14 38 455 48 393535048 14 38 6,17
50 393525050 14 38 4,44 50 393535050 14 38 6,05
55 393525055 16 43 4,29 55 393535005 16 43 5,81
60 393525060 18 44 4,05 60 393535060 18 44 5,50
65 393525065 18 44 3,88 65 393535065 18 44 5,20
n 393525070 20 49 3,58 0 393535070 20 49 4,88
75 393525075 20 49 3,37 75 393535075 20 49 4,46
80 393525080 22 54 3,05 80 393535080 22 54 4,08
85 393525085 22 54 2,77 85 393535085 22 54 3,67
90 393525090 25 54 2,47 90 393535090 25 54 3,21

www.schikibelting.com 217



TAPER BUSHES

D1

SCHIKI

MOVING YOU FORWARD.

L
BUSHES 4030 BUSHES 4040

Screw BSW =5/8"
Tightening torque = 1770 Nm

Main Diameter (D1) =146
Lenght (L) =76,2

Diam. holes

d
40
42
45
48
50
55
60
65
10
75
80
85
90

394030040
394030042
394030045
394030048
394030050
394030055
394030060
394030065
394030070
394030075
394030080
394030085
394030090

Keyway width

Keyway depth
T2

33
33
38
38
38
43
44
44
49
49
54
54
54

6,65
6,98
6,98
6,99
6,40
6,40
6,35
6,35
6,30
6,30
6,10
6,10
5,90

Main Diameter (D1) = 146
Lenght (L) =101,5
Diam. holes
d
45
43
50
55
60
65
n
75
80
85
90
95
100

394040045
394040048
394040050
394040055
394040060
394040065
394040070
394040075
394040080
394040085
394040090
394040095
394040100

Screw BSW =5/8"
Tightening torque = 1770 Nm

Keyway width  Keyway depth

12 Kg.
3,8 9,86
3,8 9,66
3,8 9,48
43 9,27
44 8,93
44 8,60
49 817
49 178
54 7,35
54 6,89
54 6,36
54 594
6,4 5,21

Y BUSHES 4545

Screw BSW =3/4”
Tightening torque = 192 Nm

Main Diameter (D1) =162
Lenght (1) = 89

Diam. holes

278

d
55
60
65
10
75
80
85
90
95
100
110
120

394535055
394535060
394535065
394535070
394535075
394535080
394535085
394535090
394535095
394535100
394535110
394535120

Keyway width

Keyway depth
T2
43
44
44
49
49
5,4
54
54
54
6,4
6,4
74

10,55
10,50
10,40
10,20
9,95
9,95
9,90
9,80
9,75
9,65
9,55
9,45

Main Diameter (D1) = 162
Lenght (L) =114,3
Diam. holes
d
55
60
65
n
75
80
85
90
95
100
10

code

394545055
394545060
394545065
394545070
394545075
394545080
394545085
394545090
394545095
394545100
394545110

Screw BSW =3/4”
Tightening torque = 192 Nm

Keyway width  Keyway depth

) Ko.
43 1315
44 1276
44 12,38
49 12,02
49 1,57
54 1,05
54 10,46
54 9,99
54 942
6,4 8,63
6,4 737

www.schikibelting.com



SCHIKI

MOVING YOU FORWARD,

TAPER BUSHES

D1
d
|
T
I
|
|
|
|
i

L
BUSHES 5040 BUSHES 5050

Main Diameter (D1) =178 Screw BSW=7/8" Main Diameter (D1) =178 Screw BSW =7/8"
Lenght (L) =101,6 Tightening torque = 271Nm Lenght (L) =127 Tightening torque = 271Nm
Iliam.ll holes code Keywa; width KeywaT); depth K. Iliam.[1 holes code Keywa; width KeywaT); depth K.
n 395040070 20 49 11,90 65 395050065 18 44 16,70
75 395040075 20 49 11,90 n 395050070 20 49 16,70
80 395040080 22 54 11,30 75 395050075 20 49 16,05
85 395040085 22 54 11,30 80 395050080 22 54 15,56
90 395040090 25 54 10,60 85 395050085 22 54 15,00
100 395040100 28 6,4 10,60 90 395050090 25 54 14,43
10 395040110 28 6,4 10,00 95 395050095 25 54 13,88
120 395040120 32 74 9,70 100 395050100 28 6,4 13,06
125 395040125 32 74 9,70 10 395050110 28 6,4 11,56
115 395050115 32 74 10,51
120 395050120 32 74 9,78
125 395050125 32 14 9,05

SCREWS FOR TAPER BUSHES

Set screw with internal hexagon Set head screw with internal hexagon
description code Tightening screw “2:::::1“ _ description code Tightening screw “2::::::"
BUSHES BSW Nm BUSHES BSW Nm

1008 399999991 1/4” 5,6 0,002 3525 399999996 1/2" 12,0 0,050
1108 399999991 1/4” 5,6 0,002 3535 399999996 1/2" 12,0 0,050
1210 399999992 3/8" 20,0 0,005 4030 399999997 5/8” 170,0 0,090
1215 399999992 3/8” 20,0 0,005 4040 399999997 5/8” 170,0 0,090
1610 399999992 3/8" 20,0 0,005 4535 399999998 3/4” 192,0 0,146
1615 399999992 3/8” 20,0 0,005 4545 399999998 3/4” 192,0 0,146
2012 399999993 1/16” 31,0 0,012 5040 399999999 1/8" 271,0 0,228
2517 399999994 1/2” 48,0 0,017 5050 399999999 1/8" 271,0 0,228
3020 399999995 5/8” 90,0 0,032

3030 399999995 5/8" 90,0 0,032

www.schikibelting.com 279






SCHIKI

MOVING YOU FORWARD,

&
&»




LOCKING ASSEMBLIES - TECHNICAL DATA

Calculation of the minimum outside diameter of hub (DM)

DM>D-K
D=
K=

outside diameter of locking assemble (mm)
coefficient (see table)

To calculate the “K” value not shown in the table,
use the following formula:

Co2+@-PN)

K= \IIIIII)
O'o2-(c-PN)

d 0,2 = yield strength of the material (N/mm?)
¢ = factor depending on the type of the application
PN = surface pressure of the hub

G66-30
G6T8-35
ALSiTMgMn

6G-20

DM

DM

[L]

DM

[ I

COEFFICIENT “K” TABLE
GGG-50
65-500
C-40

GG66-38
(6S-400
St.42-3

G66-60
6S-600
C-45

indicative values for the yield strength d 0,2in N/mm?

GGG-70
6S-70
C-60

SCHIKI

MOVING YOU FORWARD.

WA\

DM

DM

DM

pn

W/mme | 06 08 1 |06 08 1 |06
60 | 128 | 139 | 153 | 120 | 1,28 | 136 | 116
685 | 1,30 | 144 | 159 | 1,22 | 130 | 140 | 117
0 | 133 | 148 | 166 | 124 | 1,33 | 144 | 118
75 | 136 | 153 | 173 | 1,26 | 1,36 | 148 | 120
80 | 139 | 158 | 18 | 1,28 | 1,39 | 153 | 1,21
85 | 142 | 463 | 190 | 1,30 | 142 | 157 | 1,23
9 | 146 | 169 | 2,00 | 1,32 | 146 | 162 | 125
95 | 149 | 175 | 211 | 1,34 | 149 | 168 | 1,26
100 | 153 | 180 | 2,24 | 136 | 153 | 173 | 1,28
105 | 156 | 1,88 | 2,38 | 1,39 | 156 | 179 | 1,28
10 | 160 | 196 | 255 | 141 | 160 | 186 | 1,31
15 | 164 | 204 | 275 | 143 | 1,64 | 193 | 1,33
120 | 169 | 213 | 3,00 | 146 | 169 | 2,00 | 1,34
125 | 173 | 224 | 332 | 148 | 173 | 2,08 | 1,36
190 | 178 | 235 | 374 | 15 | 178 | 217 | 1,38
195 | 183 | 248 | 4,36 | 154 | 183 | 2,27 | 140
140 | 188 | 263 | 539 | 156 | 188 | 2,38 | 142
1“5 | 194 | 2,80 | 768 | 159 | 1,94 | 2550 | 144
150 | 2,00 | 3,00 162 | 2,00 | 265 | 146
155 | 2,06 | 3,25 165 | 2,06 | 2,81 | 148
160 | 213 | 355 169 | 213 | 3,00 | 150
165 | 221 | 3.9 172 | 221 | 323 | 152
1 | 229 | 452 176 | 229 | 351 | 154
180 | 240 | 700 183 | 248 | 436 | 159
19 | 27 191 | 271 | 624 | 164
200 | 300 2,00 | 3,00 1,69
20 |33 210 | 3,39 174
220 | 39 221 | 39 1,80
230 | 490 233 | 490 1,86
240 | 700 248 | 7,00 1,03
250 2,65 2,00
300 4,36 248

282

250 300 350

08 1 06 08 1 06 08 1 0,6
121 | 128 | 118 | 118 | 122 [ 111 | 1156 | 1,19 | 1,09
124 | 130 | 114 | 119 | 126 | 192 | 116 | 1,21 | 110
126 | 1,33 | 115 | 121 | 127 | 113 | 118 | 122 | 111
128 | 1,36 | 116 | 122 | 129 | 114 | 119 | 124 | 112
1,30 | 1,39 | 1,18 | 124 | 131 | 115 | 120 | 126 | 113
132 | 142 | 119 | 126 | 1,34 | 116 | 122 | 128 | 114
184 | 146 | 120 | 1,28 | 186 | 1,17 | 1,28 | 1,30 | 115
1,37 | 1,49 | 1,21 | 1,30 | 1,39 | 1,18 | 126 | 1,82 | 115
139 | 153 | 122 | 1,31 | 141 | 119 | 126 | 1,34 | 116
142 | 156 | 124 | 123 | 144 | 120 | 1,28 | 1,36 | 117
144 | 160 | 125 | 1,35 | 147 | 121 | 1,29 | 1,38 | 118
147 | 164 | 1,26 | 1,37 | 150 | 122 | 1,31 | 141 | 119
150 | 1,69 | 1,28 | 1,39 | 163 | 1,23 | 1,33 | 143 | 1,20
153 | 173 | 129 | 141 | 156 | 1,24 | 1,34 | 145 | 121
196 [ 1,78 | 1,30 | 1,44 | 159 | 125 | 1,36 | 148 | 1,22
1959 | 183 | 1,32 | 146 | 162 | 1,27 | 1,38 | 1,50 | 1,23
162 | 1,88 | 1,33 | 148 | 166 | 1,28 | 1,39 | 153 | 1,24
165 | 1,94 | 1,35 | 150 | 169 | 1,29 | 141 | 1,55 | 1,25
169 | 2,00 | 1,36 | 183 | 1,73 | 1,30 | 143 | 1,58 | 1,26
172 | 206 | 1,38 | 155 | 177 | 1,31 | 145 | 161 | 1,27
176 | 2,13 | 1,39 | 158 | 181 | 1,33 | 147 | 164 | 1,28
180 | 221 | 141 | 160 | 1,86 | 1,34 | 149 | 167 | 1,29
1,84 | 229 | 142 | 163 [ 190 | 1,35 [ 151 | 170 | 1,30
193 | 248 | 146 | 169 | 200 [ 1,38 [ 165 | 177 | 1,32
203 [ 271 | 149 [ 175 | 211 | 1,40 | 159 | 1,84 | 1,34
213 | 300 | 1,53 | 181 | 224 | 1,43 | 164 | 191 | 136
2,26 | 3,39 | 156 | 1,88 | 2,38 | 146 | 169 | 2,00 | 1,39
2,40 | 396 | 160 | 196 | 255 | 149 | 174 | 2,09 | 141
2,56 | 490 | 164 | 204 | 275 | 152 | 179 | 2,20 | 143
2,76 | 700 | 169 | 213 | 3,00 [ 1,55 [ 185 | 2,32 | 146
3,00 173 | 224 | 3,32 | 1,58 | 191 | 2,45 | 148
7,00 2,00 | 3,00 177 | 2,32 | 361 | 1,62

08

113
114
115
116
118
119
1,20
1,21
122
124
1,25
1,26
1,28
1,29
1,30
1,32
133
1,35
1,36
1,38
1,39
141
142
146
1,49
1,53
1,56
1,60
1,64
1,69
173
2,00

116
118
119
1,21
1,22
1,24
1,26
127
129
131
133
134
136
138
140
142
144
146
148
151
153
155
157
162
168
173
179
186
193
2,00
2,08
265

06 08 1 |08 08 1

108 | 111 | 144 | 1,08 | 1,08 | 1141
109 | 142 | 116 | 107 | 1,09 | 111
10 | 118 | 17 [ 107 | 110 | 112
11| 104 | 118 | 1,08 | 111 | 113
11| 115 | 120 | 1,08 | 111 | 114
112 | 136 | 121 [ 109 | 112 | 115
113 | 118 | 122 | 109 | 113 | 116
114 | 119 | 124 | 100 | 134 | 117
114 | 120 | 125 | 110 | 114 | 118
15 | 120 [ 127 [ 11| 115 | 119
16 | 122 | 128 | 112 | 118 | 1,20
117 | 1,23 | 1,80 | 112 | 117 | 1,21
118 | 124 | 130 | 113 | 118 | 1,22
118 | 125 | 133 | 113 | 118 | 1,24
119 | 127 | 135 | 114 | 119 | 1,25
120 | 1,28 | 1,36 | 115 | 1,20 | 1,28
120 | 129 | 188 | 115 | 121 | 1,27
122 | 130 | 140 | 116 | 122 | 1,28
122 | 1310 | 141 | 116 | 122 | 1,29
123 | 1,33 | 143 | 117 | 1,23 | 130
124 | 1,34 | 145 | 118 | 124 | 1,31
1,25 | 1,35 | 147 | 118 | 1,25 | 133
126 | 187 | 149 | 119 | 1,26 | 134
128 | 1,39 | 153 | 120 | 1,28 | 136
130 | 142 | 157 | 121 | 130 | 1,39
130 | 145 | 161 [ 122 | 131 | 14
133 | 148 | 186 | 124 | 133 | 144
135 | 151 | 171 | 1,25 | 1,35 | 147
137 | 154 | 176 | 1,26 | 1,37 | 150
139 | 158 | 181 | 128 | 1,39 | 153
141 | 161 | 187 | 120 | 141 | 156
153 | 181 | 224 | 1,36 | 153 | 173

www.schikibelting.com



MOVING YOU FORWARD,

LOCKING ASSEMBLIES SELF-CENTERING “BK 11" 5 SCHIKI
B

L1
\_/ \‘_’/
, ==tz 1 j
Self-centering L = -
very high torques O )
Tolerances: shaft h8 - hub H8 z 2
Contact surfaces with roughness: Rt max 16 ym < O
Concentricity error: 0.02 = 0.04 mm ’;' ‘ L
7"‘2‘\‘\# ’\/’E‘\l\

surface pressure Tightening screw
torque axial force L ) m‘";; ‘ mt:::::m
Mt Fass. w n
Nm KN N/pmm2 N/l:nmz typs
25 x 55 BK011025055 32 40 46 799 64 314 107 6 M6x35 17 0,50
28 x 55 BK011028055 32 40 46 895 64 281 107 6 M6x35 17 0,60
30 x 55 BK011030055 32 40 46 959 64 262 107 6 M6x35 17 0,42
35 x 60 BK011035060 44 54 60 1306 75 185 83 1 M6x45 17 0,70
38 x75 BK011038075 44 54 62 2567 135 308 121 7 M8x50 A 0,70
40 x 75 BK011040075 44 54 62 2702 135 293 121 1 M8x50 Il 1,04
42 x 715 BK011042075 44 54 62 2837 135 279 121 7 M8x50 M 1,00
45 X 75 BK011045075 44 54 62 3040 135 260 121 7 M8x50 4 0,90
48 x 80 BK011043080 56 64 2 3107 154 216 102 8 M8x55 Il 1,40
50 x 80 BK011050080 56 64 72 3861 194 207 102 8 M8x55 4 1,30
55 x 85 BK011055085 56 64 72 4719 174 212 108 9 M8x55 4 1,34
60 x 90 BK011060090 56 64 2 5793 193 216 13 10 M8x55 Il 1,60
65 x 95 BK011065095 56 64 72 6276 193 199 107 10 M8x55 4 1,80
70 x 110 BK011070110 70 8 88 10951 313 235 120 10 M10x60 83 3,00
7% x 115 BKO011075115 10 8 88 11733 313 220 115 10 M10x60 83 3,30
80 x 120 BK011080120 70 8 88 13768 344 221 121 1 M10x60 83 3,50
85 x 125 BK011085125 70 8 88 15959 376 233 127 12 M10x60 83 3,70
90 x 130 BK011090130 70 8 88 16898 376 220 122 12 M10x60 83 3,80
95 x 135 BK011095135 70 8 88 17837 376 208 " 12 M10x60 83 5,00
100 x 145 BK011100145 90 100 12 25029 501 21 113 1 Mi2x80 145 6,00
110 x 155 BKO011110155 90 100 12 30039 546 209 115 12 M12x80 145 6,20
120 x 165 BKO011120165 90 100 12 38226 637 224 127 14 M12x80 145 720
130 x 180 BK011130180 104 116 130 48270 743 201 17 12 M14x90 230 10,00
140 x 190 BKO011140190 104 116 130 60654 866 217 129 14 M14x90 230 10,20
150 x 200 BK011150200 104 116 130 69628 928 217 132 19 M14x90 230 10,80
160 x 210 BKO011160210 104 116 130 79220 990 217 134 16 M14x90 230 11,50
170 x 225 BKO011170225 134 148 164 100851 1186 206 116 14 M16x110 360 17,00
180 x 235 BK011180235 134 148 164 114414 12N 208 19 195 M16x110 360 17,05
190 x 250 BK011190250 134 148 164 128814 1356 210 19 16 M16x110 360 21,50
200 x 260 BK011200260 134 148 164 135594 1356 200 15 16 M16x110 360 22,00
220 x 285 BK011220285 134 148 164 167805 1526 204 18 18 M16x110 360 25,00

www.schikibelting.com 283



SCHIKI

MOVING YOU FORWARD.

LOCKING ASSEMBLIES SELF-CENTERING “BK 13"

WA\

B
L3
L2

self-centering ] ¥
Medium-high twisting moments <E; — —
Tolerances: shaft h8 - hub H8 — ! I —
Contact surfaces with roughness: Rt max 16 pm - ‘ ] .
Concentricity error: 0.02mm = 0.04mm —
shortassembly times /T 8 8
q During assembly, a slight axial displacement of the hub with respect

to the shaft may oceur L1 gr

surface pressure Tightening screw
torque axial force L L ﬂl:‘;; ‘ “z::::::m
Mt Fass. w n
Nm KN N/pmmz N/I:nm2 typs
18 x 47 BK013018047 17 22 28 34 259 29 276 106 5 M6x20 13 0,30
19 x 47 BK013019047 17 22 28 34 273 29 262 106 5 M6x20 13 0,30
20 x 47 BK013020047 17 22 28 34 287 29 249 106 5 M6x20 13 0,30
22 x 47 BK013022047 17 22 28 34 316 29 221 106 5 M6x20 13 0,30
24 x 50 BK013024050 17 22 28 34 413 34 249 120 6 M6x20 13 0,30
25 x 50 BK013025050 17 22 28 34 431 34 239 120 6 M6x20 13 0,30
28 x 595 BK013028055 17 22 28 34 482 34 213 109 6 M6x20 13 0,40
30 x 55 BK013030055 17 22 28 34 517 34 199 109 6 M6x20 13 0,30
32 x 60 BK013032060 17 22 28 34 134 46 249 133 8 M6x20 13 0,40
35 x 60 BK013035060 17 22 28 34 803 46 221 133 8 M6x20 13 0,40
38 x 65 BK013038065 17 22 28 34 872 46 210 122 8 M6x20 13 0,40
40 x 65 BK013040065 17 22 28 34 918 46 199 122 8 M6x20 13 0,40
42 x 15 BK013042075 20 25 33 M 1563 )/ 261 146 7 M8x25 32 0,80
45 X 75 BK013045075 20 25 33 4 1674 74 244 146 7 M8x25 32 0,60
50 x 80 BK013050080 20 25 33 Al 1860 I} 219 137 1 M8x25 32 0,80
55 x 85 BK013055085 20 25 33 4 2340 85 228 148 8 M8x25 32 0,80
60 x 90 BK013060090 20 25 33 4 2553 85 209 139 8 M8x25 32 0,80
65 x 95 BK013065095 20 25 33 4 310 96 217 149 9 M8x25 32 0,90
70 x 110 BK013070110 24 30 40 50 4838 138 243 194 8 M10x30 65 1,99
75 x 115 BK013075115 24 30 40 50 5184 138 226 148 8 M10x30 65 1,80
80 x 120 BK013080120 24 30 40 50 5530 138 212 142 8 M10x30 65 1,80
85 x 125 BK013085125 24 30 40 50 6610 196 225 193 9 M10x30 65 2,00
90 x 130 BK013090130 24 30 40 50 6998 196 212 147 9 M10x30 65 2,10
95 x 135 BK013095135 24 30 40 50 8208 173 223 157 10 M10x30 65 2,10
100 x 145 BK013100145 26 32 44 56 9742 195 221 152 8 M12x35 10 2,80
110 x 155 BK013110155 26 32 44 56 10716 195 201 143 8 M12x35 110 3,00
120 x 165 BK013120165 26 32 44 56 13154 219 207 151 9 M12x35 10 3,20
130 x 180 BK013130180 34 40 52 64 18996 292 195 14 12 M12x35 10 4,80
140 x 190 BK013140190 34 40 54 68 20336 291 180 133 9 M14x40 170 5,20
150 x 200 BK013150200 34 40 54 68 24211 323 187 140 10 M14x40 170 5,40
160 x 210 BK013160210 34 40 54 68 28408 355 192 147 1 M14x40 170 5,70
170 x 225 BK013170225 44 50 64 8 32929 387 153 115 12 M14x40 170 8,00
180 x 235 BK013180235 44 50 64 8 34866 387 144 10 12 M14x40 170 8,30

084 www.schikibelting.com



MOVING YOU FORWARD,

LOCKING ASSEMBLIES SELF-CENTERING “BK 15” 5 SCHIKI
B

L3
L2
L1

self-centering [
Medium-high twisting moments 1 ‘—Ji = 7
Tolerances: shaft hg - hub H8 L= i

B —
Contact surfaces with roughness: Rt max 16 pm
concentricity error: 0.02mm = 0.04mm o N - 8 é
Short assembly times

surface pressure Tightening screw
torque  axial force LI L) “'1"2:12 "2:::::}“
Mt Fass. w n Ms
Nm KN u/pmm2 u/l:nm2 type Nm
14 x 55 BK015014055 17 22 30 38 62 234 37 415 " 4 M8x25 A 0,50
16 X 55 BK015016055 17 22 30 38 62 268 37 363 17 4 M8x25 Al 0,50
18x55 BK015018055 17 22 30 38 62 333 31 357 17 4 M8x25 4 0,50
19X 55 BK015019055 17 22 30 38 62 352 37 338 " 4 M8x25 | 0,50
20x 55 BK015020055 17 22 30 38 62 310 37 321 17 4 M8x25 | 0,50
22X 5% BK015022055 17 22 30 38 62 407 31 292 1 4 M8x25 4 0,50
24X 55 BK015024055 17 22 30 38 62 445 37 268 17 4 M8x25 4 0,50
25X 55 BK015025055 17 22 30 38 62 463 37 257 17 4 M8x25 4 0,50
28X 55 BK015028055 17 22 30 38 62 519 31 229 1 4 M8x25 4 0,40
30x 55 BK015030055 17 22 30 38 62 556 37 214 17 4 M8x25 4 0,40
24 X 65 BK015024065 17 22 30 38 I 556 46 335 124 5 M8x25 Il 0,70
25X 65 BK015025065 17 22 30 38 el 579 46 321 124 5 M8x25 4 0,70
28X 65 BK015028065 17 22 30 38 el 649 46 281 124 ) M8x25 4 0,60
30X 65 BK015030065 17 22 30 38 ' 695 46 268 124 5 M8x25 Il 0,60
32X 65 BK015032065 17 22 30 38 el m 46 261 124 5 M8x25 4 0,60
35X 65 BK015035065 17 22 30 38 el 811 46 230 124 5 M8x25 4 0,50
38X 65 BK015038065 17 22 30 38 2 880 46 21 124 5 M8x25 Al 0,50
40X 65 BK015040065 17 22 30 38 2 927 46 201 124 5 M8x25 4 0,50
30x80 BK015030080 20 25 33 4 87 972 65 318 19 1 M8x25 Il 1,00
32x80 BK015032080 20 25 33 | 87 1037 65 299 19 1 M8x25 4 1,00
35x80 BK015035080 20 25 33 | 87 1134 65 213 19 1 M8x25 4 1,00
38x80 BK015038080 20 25 33 | 87 1231 65 251 19 1 M8x25 Al 1,00
40x 80 BK015040080 20 25 33 | 87 1296 65 239 19 1 M8x25 4 0,90
42x80 BK015042080 20 25 33 | 87 1361 65 221 19 1 M8x25 4 0,90
45x 80 BK015045080 20 25 33 Il 87 1458 65 212 19 1 M8x25 Al 0,80
43x 80 BK015048080 20 25 33 4 87 1555 65 199 19 7 M8x25 A 0,80
50x 80 BK015050080 20 25 33 4 87 1620 65 191 19 7 M8x25 4 0,80

www.schikibelting.com 285



MOVING YOU FORWARD.

LOCKING ASSEMBLIES SELF-CENTERING “BK 16” 5 SCHIKI
B

L3
L2
L1

self-centering [
Medium-high twisting moments 1 ‘—Ji = 7
Tolerances: shaft hg - hub H8 L= i

B —
Contact surfaces with roughness: Rt max 16 pm
concentricity error: 0.02mm = 0.04mm o N - 8 é
Short assembly times

surface pressure Tightening screw
torque  axial force L L) “'1':1912 T'!::::::‘U
Mt Fass. w n
Nm KN u/pmm2 u/l:nm2 W type
18 x 47 BK016018047 17 22 28 34 56 230 26 246 94 5 M6x20 17 0,30
19 x 47 BK016019047 17 22 28 34 56 243 26 234 94 5 M6x20 17 0,30
20 x 47 BK016020047 17 22 28 34 56 256 26 222 94 5 M6x20 17 0,30
22 x 471 BK016022047 17 22 28 34 56 282 26 202 94 5 M6x20 17 0,30
24 x 50 BK016024050 17 22 28 34 59 368 31 222 106 6 M6x20 17 0,30
25 x 50 BK016025050 17 22 28 34 59 383 31 213 106 6 M6x20 17 0,30
28 x 5% BK016028055 17 22 28 34 64 429 31 190 97 6 M6x20 17 0,40
30 x 55 BK016030055 17 22 28 34 64 460 31 17 97 6 M6x20 17 0,40
32 x 60 BK016032060 17 22 28 34 69 655 Il 222 18 8 M6x20 17 0,40
35 x 60 BK016035060 17 22 28 34 69 716 4 203 18 8 M6x20 17 0,40
38 x 65 BK016038065 17 22 28 34 )/ 778 4 187 109 8 M6x20 17 0,50
40 x 65 BK016040065 17 22 28 34 )/ 819 Il 178 109 8 M6x20 17 0,50
42 x715 BK016042075 20 25 33 A 84 1361 65 227 127 1 M8x25 4 0,80
45 X 75 BK016045075 20 25 33 4 84 1458 65 212 127 1 M8x25 4 0,70
50 x 80 BK016050080 20 25 33 Il 89 1620 65 191 19 1 M8x25 Il 0,80
55 x 85 BK016055085 20 25 33 4 94 2037 74 199 129 8 M8x25 4 0,90
60 x 90 BK016060090 20 25 33 4 99 2223 74 182 121 8 M8x25 4 0,90
65 x 95 BK016065095 20 25 33 4 104 2710 83 189 126 9 M8x25 Al 1,00
70 x 110 BK016070110 24 30 40 50 19 4203 120 21 134 8 M10x30 83 1,90
75 x 115 BK016075115 24 30 40 50 124 4754 120 197 128 8 M10x30 83 1,77
80 x 120 BK016080120 24 30 40 50 129 4804 120 184 123 8 M10x30 83 2,00
85 x 125 BK016085125 24 30 40 50 134 5742 135 195 133 9 M10x30 83 2,00
90 x 130 BK016090130 24 30 40 50 139 6080 135 184 128 9 M10x30 83 2,20
95 x 135 BK016095135 24 30 40 50 144 3t 150 194 137 10 M10x30 83 2,30
100 x 145 BK016100145 26 32 44 56 154 8732 175 198 137 8 M12x35 145 3,00
110 x 155 BK016110155 26 32 44 56 164 9605 175 180 128 8 M12x35 145 3,20
120 x 165 BK016120165 26 32 44 56 174 1787 196 186 135 9 M12x35 145 3,40
130 x 180 BK016130180 34 40 52 64 189 17024 262 175 126 12 M12x35 145 5,20
140 x 190 BK016140190 34 40 54 68 199 18703 267 166 122 9 M14x40 230 5,40
150 x 200 BK016150200 34 40 54 68 209 22259 297 172 129 10 M14x40 230 5,70
160 x 210 BK016160210 34 40 54 68 219 26119 326 1 135 1" M14x40 230 6,00
170 x 225 BK016170225 44 50 64 8 234 30276 356 140 106 12 M14x40 230 8,30
180 x 235 BK016180235 44 50 64 8 244 32057 356 133 102 12 M14x40 230 8,80

286 www.schikibelting.com



LOCKING ASSEMBLIES SELF-CENTERING “BK 19” 5 SCHIKI

MOVING YOU FORWARD,

L2
L1

Self-centering 17
Medium-high twisting moments T T
Tolerances: diameter d h8 = "
Tolerances: diameter dw [ ]
from 18 mm to 30 mm including H6 / j6
from 30 mm to 50 mm including H6 / h6
from 50 mm to 80 mm including H6 / g6 T

W

3
N
@D
@d

from 80 mm to 500 mm including H7 / g6 |
Contact surfaces with roughness: Rt max 16 ym g i A~
short assembly times {L 1 ]

Tightening screw

pressione super- DIN 931 Tightening
ficiale shaft torque axial force (K] torque
pw mt L Ms
N/mm? Nm type Nm

19 162 15,0

24 20 50 BK019024050 14 19,5 23 272 200 18,5 6 Mb5x18 49 0,20
21 238 210
24 285 15,7

30 25 60 BK019030060 16 215 25 221 323 237 1 M5x18 49 0,30
26 361 26,7
28 418 270

36 30 12 BK019036072 18 235 215 292 542 38,0 5 M6x20 18 0,40
31 599 43,0
32 589 44,0

44 35 80 BK019044080 20 25,5 295 301 M 49,0 7 M6x20 18 0,60
36 817 54,0
38 893 48,8

50 40 90 BK019050090 22 215 31,5 215 1102 58,8 8 M6x25 18 0,80
42 1311 69,0
42 1102 48,0

55 45 100 BK019055100 23 30,5 34,5 239 1444 61,7 8 MBx25 18 1,10
48 1786 770
48 1758 69,0

62 50 10 BK019062110 23 30,5 34,5 265 2090 80,9 10 M6x25 18 1,30
52 2280 90,0
50 1900 2

68 55 115 BK019068115 23 30,5 34,5 242 2375 80,9 10 M6x25 18 1,40
60 2993 95,7
55 2375 94,4

75 60 138 BK019075138 25 32,5 378 259 3040 1m0 7 M8x30 294 1,70
65 3753 126,0
60 3040 99,3

80 65 145 BK019080145 25 325 318 243 3505 115,0 1 M8x30 294 1,90
70 4370 130,0
65 4513 1410

90 70 155 BK019090155 30 39 44,3 257 5700 160,0 10 M8x35 294 3,30
75 6888 178,0
70 6555 163,0

100 75 170 BK019100170 34 44 49,3 245 7125 182,0 12 M8x35 294 470
80 8550 202,0
75 6840 185,0

10 80 185 BK019110185 39 50 56,4 232 8550 207,0 9 M10x40 518 5,90
85 10260 221,0
85 10450 240,0

125 90 215 BK019125215 42 54 60,4 253 12350 262,0 12 M10x40 578 8,30
95 14250 285,0
95 14345 308,0

140 100 230 BK019140230 46 60,5 68 251 16720 331,0 10 M12x45 98 10,00
105 19095 3570
105 20900 366,0

155 10 265 BK019155265 50 64,5 72 250 23750 392,0 12 M12x50 98 15,00
115 26600 470
115 29450 513,0

165 120 290 BK019165290 56 n 81 263 33250 5440 8 M16x55 245 22,00
125 37050 564,0
125 34200 576,0

175 130 300 BK019175300 56 n 81 248 38950 630,0 8 M16x55 250 22,00
135 45000 666,0

www.schikibelting.com 287



SCHIKI

MOVING YOU FORWARD.

LOCKING ASSEMBLIES SELF-CENTERING “BK 26”

WA

L1

Self-centering I
Medium-low twisting moments

Tolerances: shaft h8 - hub H8 O
Contact surfaces with roughness: Rt max 16 pm

O\/
@D1
ad
|
T
@D

Quick assembly and disassembly (

surface pressure serraggio
torque axial force LLIL hub LLEED T'!::::::“J

Mt Fass. w n

Nm KN u/pmmz N/I:nm2 W type
14x 25 BK026014025 20 31 32 70 9 91 55 1 M20x1 95 0,10
15X 25 BK026015025 20 31 32 7 9 91 55 1 M20x1 95 0,11
18x30 BK026018030 21 33 38 125 13 98 59 1 M25x1,5 160 0,13
19x 30 BK026019030 21 33 38 132 13 93 59 1 M25x1,5 160 0,13
20x30 BK026020030 21 33 38 139 13 88 59 1 M25x1,5 160 0,15
24x35 BK026024035 25 38 45 202 15 4 51 1 M30x1,5 220 0,17
25x35 BK026025035 25 38 45 210 15 n 51 1 M30x1,5 220 0,17
28x40 BK026028040 28 44 52 312 20 76 53 1 M35x1,5 340 0,28
30x40 BK026030040 28 44 52 335 20 n 53 1 M35x1,5 340 0,26
35x45 BK026035045 28 45 58 483 25 75 58 1 M40x1,5 480 0,26
40X 50 BK026040050 28 46 65 696 31 82 66 1 M45x1,5 680 0,33
45X 55 BK026045055 28 47 10 902 36 84 69 1 M50x1,5 870 0,45
50x 60 BK026050060 28 47 75 1014 37 i 64 1 Mo5x2 970 0,66
55X 65 BK026055065 28 48 80 1158 38 3 61 1 M60x2 1100 0,72
60Xx70 BK026060070 28 50 85 1379 Il 13 62 1 MB5x2 1300 0,80

288 www.schikibelting.com



MOVING YOU FORWARD,

LOCKING ASSEMBLIES NOT SELF-CENTERING “BK 40” 5 SCHIKI

B
L2
L1
Not self-centering Em _N‘\ |
ium-hi isti — TR R —
oRmcon e M e ) =N
Contact surfaces with roughness: Rt max 16 ym _ _
Quick disassembly O - a
g Aguide between shaft and hub is required to achieve —— Q 8
good concentricity ‘E* [ i~
— ] | |
E EEE
surface pressure Tightening screw
DIN 912 Tightenin
torque axial force Ui L 129 I‘:orque :
Mt Fass. pw pn Ms
Nm KN N/mm? N/mm? N type Nm
19 x 47 BK040019047 17 20 26 298 31 286 116 8 M6x18 14,9 0,25
20 x 47 BK040020047 17 20 26 313 31 212 116 8 M6x18 14,9 0,24
22 x 47 BK040022047 17 20 26 345 31 241 116 8 M6x18 14,9 0,23
24 x 50 BK040024050 17 20 26 424 35 255 123 9 M6x18 14,9 0,26
25 x 50 BK040025050 17 20 26 AN 35 245 123 9 M6x18 14,9 0,25
28 x 595 BK040028055 17 20 26 549 39 243 124 10 M6x18 14,9 0,30
30 x 55 BK040030055 17 20 26 588 39 221 124 10 M6x18 14,9 0,29
32 x 60 BK040032060 17 20 26 752 47 255 136 12 M6x18 14,9 0,30
35 x 60 BK040035060 17 20 26 822 47 233 136 12 M6x18 14,9 0,32
38 x 65 BK040038065 17 20 26 1042 95 250 146 14 M6x18 14,9 0,36
40 x 65 BK040040065 17 20 26 1097 95 238 146 14 M6x18 14,9 0,34
42 x 75 BK040042075 20 24 32 1740 83 291 163 12 M8x22 35 0,48
45 X 75 BK040045075 20 24 32 1864 83 21 163 12 M8x22 35 0,57
48 x 80 BK040048080 20 24 32 1988 83 254 153 12 M8x22 35 0,59
50 x 80 BK040050080 20 24 32 2071 83 244 153 12 M8x22 35 0,60
55 x 85 BK040055085 20 24 32 2658 97 259 168 14 M8x22 35 0,63
60 x 90 BK040060090 20 24 32 2900 97 238 158 14 M8x22 35 0,69
65 x 95 BK040065095 20 24 32 3587 10 250 m 16 M8x22 35 0,73
70 x 10 BK040070110 24 28 38 5345 153 268 m 14 M10x25 69 1,26
7% x 115 BK040075115 24 28 38 5721 153 250 163 14 M10x25 69 1,33
80 x 120 BK040080120 24 28 38 6108 153 235 156 14 M10x25 69 1,40
85 x 125 BK040085125 24 28 38 M7 175 252 172 16 M10x25 69 1,49
90 x 130 BK040090130 24 28 38 7854 175 238 165 16 M10x25 69 1,53
95 x 135 BK040095135 24 28 38 9326 196 254 179 18 M10x25 69 1,62
100 x 145 BK040100145 26 33 45 11362 221 258 178 14 M12x30 123,3 2,01
110 x 155 BK040110155 26 33 45 12498 221 234 166 14 M12x30 123,3 2,15
120 x 165 BK040120165 26 33 45 15578 260 245 178 16 M12x30 123,3 2,35
130 x 180 BK040130180 34 38 50 21095 325 217 156 20 M12x35 123,3 3,51
140 x 190 BK040140190 34 38 50 24993 357 221 163 22 M12x35 123,3 3,85
150 x 200 BK040150200 34 38 50 29217 390 225 169 24 Mi2x35 123,3 4,07
160 x 210 BK040160210 34 38 50 33756 422 229 174 26 M12x35 123,3 4,30
170 x 225 BK040170225 38 44 58 39483 465 212 160 22 M14x40 187 5,80
180 x 235 BK040180235 38 44 58 45606 507 218 167 24 M14x40 187 6,00
190 x 250 BK040190250 46 52 66 56163 591 199 192 28 M14x45 187 8,50
200 x 260 BK040200260 46 52 66 63342 633 203 196 30 M14x45 187 8,60
220 x 285 BK040220285 50 96 It 81960 745 200 194 26 M16x50 290 11,00
240 x 305 BK040240305 50 56 72 103162 860 21 166 30 M16x50 290 12,00
260 x 325 BK040260325 50 56 el 126669 974 221 17 34 M16x50 290 13,00
280 x 355 BK040280355 60 66 84 157339 1124 197 156 32 M18x60 400 19,00
300 x 375 BK040300375 60 66 84 189653 1264 207 166 36 M18x60 400 20,00
320 x 405 BK040320405 7 8 98 264108 1651 21 167 36 M20x70 580 30,00

www.schikibelting.com 289



MOVING YOU FORWARD.

LOCKING ASSEMBLIES NOT SELF-CENTERING “BK 45” 5 SCHIKI
B
L2
L

]
Not self-centering = S
Medium-low twisting moments L I J\H — \\
Tolerances: shaft h8 - hub H8
Contact surfaces with roughness: Rt max 16 ym <> > - a
Quick assembly and disassembly ( O e he
T >
BEESS e
L
surface pressure Tightening screw
DIN 912 Tightening
torque axial force L LL 129 torque
mt Fass. pw pn
t
Nm KN N/mm? N/mm? L
18x40 BK045018040 12 18,5 245 190 210 260 120 6 M6x16 17 0,20
19x41 BK045019041 12 18,5 245 210 22,0 260 120 6 M6x16 17 0,25
20X 42 BK045020042 12 18,5 245 240 24,0 250 120 6 M6x16 17 0,24
24 x 46 BK045024046 12 18,5 245 290 24,0 250 120 6 M6x16 17 0,25
25x47 BK045025047 12 18,5 245 330 26,0 230 120 8 M6x16 17 0,25
28x50 BK045028050 12 18,5 245 310 26,0 220 120 8 M6x16 17 0,30
30x 52 BK045030052 12 18,5 245 430 28,0 210 120 8 M6x16 17 0,30
35x57 BK045035057 15 22 28 610 35,0 170 100 12 M6x16 17 0,32
38x60 BK045038060 15 22 28 680 35,0 170 100 12 M6x16 17 0,36
40X 62 BK045040062 15 22 28 780 39,0 170 100 12 M6X16 17 0,40
42x70 BK045042070 18 28 36 1480 70,0 190 10 12 M8x22 4 0,45
45X73 BK045045073 18 28 36 1500 66,0 210 130 12 M8x22 Al 0,57
48x76 BK045048076 18 28 36 1550 66,0 210 130 12 M8x22 Al 0,59
50x78 BK045050078 18 28 36 1650 66,0 190 120 12 M8x22 4 0,61
55X 83 BK045055083 18 28 36 2000 72,0 190 120 16 M8x22 Il 0,63
60x 88 BK045060088 18 28 36 2350 78,0 190 120 16 M8x22 Il 0,69
70x105 BK045070105 22 35 45 3900 mo 180 120 12 M10x25 83 1,25
80x115 BK045080115 22 35 45 4800 120,0 180 120 16 M10x25 83 1,40

290 www.schikibelting.com



MOVING YOU FORWARD,

LOCKING ASSEMBLIES NOT SELF-CENTERING “BK 50” 5 SCHIKI

B
i

Not self-centering
Medium-low twisting moments
Tolerances:

up to diameter 40 = shaft h6 - hub H7 8 g

in addition to diameter 40 = shaft h8 - hub H8
Contact surfaces with roughness: Rt max 16 pm

surface pressure
momento forza
torcente assiale LI hub
Mt Fass. pw pn
Nm N/mm?

6x9 BK050006009 3,7 45 24 1 100 75 0,01
7x10 BK050007010 3,7 45 3,0 1 100 70 0,01
8 x 11 BK050008011 3,7 45 42 11 100 70 0,01
9x 12 BK050009012 37 45 58 1,3 100 ] 0,01
10 x 13 BK050010013 3,7 45 76 17 100 86 0,01
12x15 BK050012015 3,7 45 10 2 100 80 0,01
13 x 16 BK050013016 3,7 45 15 3 100 81 0,01
14 x 18 BK050014018 53 6,3 19 3 100 i 0,01
15 x 19 BK050015019 53 6,3 22 3 100 9 0,01
16 x 20 BK050016020 53 6,3 25 3 100 81 0,01
17x2 BK050017021 5,3 6,3 28 3 100 80 0,01
18 x 22 BK050018022 53 6,3 32 4 100 82 0,01
19 x 24 BK050019024 5,3 6,3 35 4 100 80 0,01
20 x 25 BK050020025 5,3 6,3 39 4 100 79 0,01
22 X 26 BK050022026 53 6,3 47 4 100 86 0,01
24 x 28 BK050024028 53 6,3 57 5 100 86 0,01
25 x 30 BK050025030 53 6,3 61 5 100 84 0,01
28 x 32 BK050028032 53 6,3 76 5 100 88 0,01
30 x 35 BK050030035 53 6,3 88 6 100 86 0,01
32 x 36 BK050032036 53 6,3 100 6 100 88 0,02
35 x 40 BK050035040 6,0 70 136 8 100 88 0,02
36 x 42 BK050036042 6,0 70 144 8 100 86 0,02
38 x 4 BK050038044 6,0 70 160 8 100 87 0,02
40 x 45 BK050040045 6,6 8,0 195 10 100 89 0,03
42 x 48 BK050042048 6,6 8,0 216 10 100 87 0,04
45 x 52 BK050045052 8,6 10,0 321 14 100 87 0,04
43 x 55 BK050048055 8,6 10,0 367 19 100 88 0,05
50 x 57 BK050050057 8,6 10,0 397 16 100 88 0,05
55 x 62 BK050055062 8,6 10,0 480 17 100 88 0,06
56 X 64 BK050056064 10,4 12,0 603 22 100 88 0,07
60 x 68 BK050060068 10,4 12,0 692 23 100 88 0,07
63 x71 BK050063071 10,4 12,0 764 24 100 89 0,08
65 x 73 BK050065073 10,4 12,0 813 25 100 89 0,08
0nxmM BK050070079 12,2 14,0 110 32 100 89 0,1
nx 8 BK050071080 12,2 14,0 1140 32 100 89 0,12
75 x 84 BK050075084 12,2 14,0 1260 34 100 89 0,12
80 x 91 BK050080091 15,0 170 1770 44 100 88 0,20
90 x 101 BK050090101 15,0 170 2240 50 100 89 0,22
100 x 114 BK050100114 18,7 21,0 3450 70 100 88 0,38

www.schikibelting.com 291



MOVING YOU FORWARD.

LOCKING ASSEMBLIES SELF-CENTERING “BK 61” 5 SCHIKI
B

Self-centering
Medium-high twisting moments —

T |
Tolerances: shaft h8 - hub H8 —] — 1
Contact surfaces with roughness: Rt max 16 pm

1
|
T
|

Concentricity error: 0.02mm < 0.04mm O )
short assembly times _ — 8 —+ 8
q During assembly, a slight axial displacement of the hub < <>
with respect to the shaft may occur —_ 1
U=
{—%4——# -

surface pressure Tightening screw
torque axial force L LL “'1":;2 TI!:::::LHU
Mt Fass. w n Ms
KN u/pmmz N/I:nm2 type Nm

5Xx16 BK061005016 10,6 1" 13,5 6 2,0 150 55 3 M2,5x10 1,2 0,01

6x16 BK061006016 10,5 1 13,5 6 2,0 150 55 3 M2,5x10 1,2 0,01
6,35x 16 BK061007016 10,5 1 13,5 6 2,0 140 55 3 M2,5x10 1,2 0,01

8x18 BK061008018 10,6 1 13,5 10 2,5 110 50 3 M2,5x10 1,2 0,02

9x20 BK061009020 12,5 13 15,5 15 3,0 120 55 4 M2,5x12 1,2 0,02
10x20 BK061010020 12,5 13 15,5 19 38 124 62 4 M2,5x12 1,2 0,02
11x22 BK061011022 12,5 13 15,5 21 38 13 56 4 M2,5x12 12 0,02
12x22 BK061012022 12,5 13 15,5 23 38 104 56 4 M2,5x12 1,2 0,02
14x 26 BK061014026 16,5 17 20 39 55 106 51 4 M3x16 2,1 0,04
15x28 BK061015028 16,5 17 20 42 55 99 53 4 M3x16 21 0,04
16X 32 BK061016032 16,5 17 21 i 96 161 81 4 M4x16 49 0,07
17x35 BK061017035 20,5 21 25 82 9,6 19 58 4 M4x20 49 0,09
18x 35 BK061018035 20,5 21 25 87 9,6 13 58 4 M4x20 49 0,09
19x 35 BK061019035 20,5 21 25 91 96 107 58 4 M4x20 49 0,08
20x 38 BK061020038 20,5 21 26 197 15,7 166 87 4 M5x20 10 0,10
22x40 BK061022040 20,5 21 26 173 15,7 151 83 4 M5x20 10 011
24x47 BK061024047 25 26 32 268 22,3 n 87 4 Méx24 17 0,20
25x47 BK061025047 25 26 32 279 22,3 164 87 4 M6x24 17 0,19
28x50 BK061028050 25 26 32 468 33,9 220 123 6 M6x24 17 0,22
30x55 BK061030055 25 26 32 502 33,9 206 12 6 M6x24 17 0,27
32x55 BK061032055 25 26 32 535 33,9 193 12 6 M6x24 17 0,25
35X 60 BK061035060 30 31 37 781 44,6 188 10 8 M6x28 17 0,36
38X 65 BK061038065 30 31 37 848 44,6 173 101 8 M6x28 17 0,43
40X 65 BK061040065 30 31 37 892 44,6 164 101 8 M6x28 17 0,40
42X75 BK061042075 35 36 44 1272 60,6 1 99 6 M8x34 4 0,67
4575 BK061045075 35 36 44 1363 60,6 165 99 6 M8x34 4 0,63
48X 80 BK061048080 35 36 44 1938 80,8 207 124 8 M8x34 4 0,74
50x 80 BK061050080 35 36 44 2019 80,8 198 124 8 M8x34 4 0,70

202 www.schikibelting.com



MOVING YOU FORWARD,

LOCKING ASSEMBLIES SELF-CENTERING “BK 70” 5 SCHIKI
B
L3

L2
R "
Self-centering L1
Medium-high twisting moments ]
Tolerances: shaft h8 - hub Hg [1 e E = e
Contact surfaces with roughness: Rt max 16 pm L

Concentricity error: 0.02mm = 0.04mm
Short assembly times
q During assembly, a slight axial displacement of the hub

with respect to the shaft may occur = ;__}/ ]

Oy
|
S N
ad
|
@D

surface pressure Tightening screw
torque axial force L L ﬂl:‘;; ‘ “z::::::m
Mt Fass. w n
Nm KN N/pmmz N/I:nm2 typs
19 x 47 BK070019047 26 31 39 45 307 32 193 8 4 M6x25 17 0,39
20 x 47 BK070020047 26 31 39 45 323 32 183 .8 4 M6x25 17 0,38
22 x 47 BK070022047 26 31 39 45 355 32 166 18 4 M6x25 17 0,37
24 x 50 BK070024050 26 31 39 45 582 48 229 10 6 M6x25 17 0,43
25 x 50 BK070025050 26 31 39 45 606 48 220 10 6 M6x25 17 0,42
28 x 595 BK070028055 26 31 39 45 679 48 196 100 6 M6x25 17 0,55
30 x 55 BK070030055 26 31 39 45 121 48 183 100 6 M6x25 17 0,56
32 x 60 BK070032060 26 31 39 45 1033 65 229 122 8 M6x25 17 0,60
35 x 60 BK070035060 26 31 39 45 1130 65 209 122 8 M6x25 17 0,50
38 x 65 BK070038065 26 31 39 45 1221 65 193 13 8 M6x25 17 0,60
40 X 65 BK070040065 26 31 39 45 1292 65 183 13 8 M6x25 17 0,60
42 x75 BK070042075 30 36 47 55 1835 81 204 115 6 M8x30 Al 1,00
45 x 75 BK070045075 30 36 47 55 1966 87 191 115 6 M8x30 4 1,00
48 x 80 BK070048080 30 36 47 55 2097 87 179 107 6 M8x30 4 110
50 x 80 BK070050080 30 36 47 55 2184 81 172 107 6 M8x30 Il 1,00
55 x 85 BK070055085 30 36 47 59 3202 116 208 135 8 M8x30 4 110
60 x 90 BK070060090 30 36 47 55 3493 116 191 127 8 M8x30 4 1,20
65 x 95 BK070065095 30 36 47 59 3784 116 176 120 8 M8x30 Al 1,30
70 x 110 BK070070110 40 46 57 67 6607 189 199 127 8 M10x35 83 2,20
75 x 115 BK070075115 40 46 62 el 7079 189 186 121 8 M10x35 83 2,50
80 x 120 BK070080120 40 46 62 el 7551 189 174 116 8 M10x35 83 2,60
85 x 125 BK070085125 40 46 62 el 10029 236 205 139 10 M10x35 83 2,80
90 x 130 BK070090130 40 46 62 el 10619 236 193 134 10 M10x35 83 2,70
95 x 135 BK070095135 40 46 62 2 11209 236 183 129 10 M10x35 83 2,90
100 x 145 BK070100145 46 52 7 89 13738 275 176 121 8 Mi2x45 145 3,90
110 x 155 BK070110155 46 52 i 89 15111 275 160 114 8 M12x45 145 4,20
120 x 165 BK070120165 46 52 11 89 20606 343 183 133 10 M12x45 145 4,80
130 x 180 BK070130180 46 52 i 89 26788 412 203 147 12 M12x45 145 5,00
140 x 190 BK070140190 51 59 84 98 26142 373 194 114 8 M14x45 230 6,50
150 x 200 BK070150200 51 59 84 98 35016 467 180 135 10 M14x45 230 7,00
160 x 210 BK070160210 51 59 84 98 37351 467 169 129 10 M14x45 230 7,00
170 x 225 BK070170225 51 59 84 98 47617 560 191 144 12 M14x45 230 8,77
180 x 235 BK070180235 51 59 84 98 50418 560 180 138 12 M14x45 230 9,00

www.schikibelting.com 203



MOVING YOU FORWARD.

LOCKING ASSEMBLIES SELF-CENTERING “BK 71 5 SCHIKI
B
L3

L2
L1
Self-centering )
High twisting moments fﬂ; [ H E;_ =1
Tolerances: shaft h8 - hub H8 [ — | —
Contact surfaces with roughness: Rt max 16 pm —
concentricity error: 0.02mm = 0.04mm O > ° a4 ] 1l o a
short assembly times < o <> S S8
/ =—/_
— ‘ 1
-
surface pressure Tightening screw
torque  axial force S s “'1":;2 T'!::::::‘U
Mt Fass. W ]
Nm KN u/pmm2 u/l:nm2 W b
19x47 BK071019047 26 31 39 45 53 202 21 127 51 4 M6x20 1 0,45
20x47 BK071020047 26 31 39 45 53 213 2 121 51 4 M6x20 1 0,46
22x47 BK071022047 26 3 39 45 53 234 21 10 51 4 M6x20 17 0,50
24 x50 BK071024050 26 31 39 45 56 384 32 151 13 6 M6x20 17 0,50
25x50 BK071025050 26 31 39 45 56 400 32 145 73 6 M6x20 17 0,50
28X 5% BK071028055 26 31 39 45 61 448 32 129 66 6 M6x20 17 0,60
30x 55 BK071030055 26 31 39 45 61 480 32 121 66 6 M6x20 17 0,60
32X 60 BK071032060 26 31 39 45 66 683 43 151 81 8 M6x20 17 0,70
35X 60 BK071035060 26 31 39 45 66 M1 43 138 81 8 M6x20 17 0,60
38X 65 BK071038065 26 31 39 45 n 8 43 127 74 8 M6x20 17 0,80
40X 65 BK071040065 26 31 39 45 n 853 43 121 74 8 M6x20 17 0,60
42X75 BK071042075 30 36 4 95 81 1216 58 135 76 6 M8x30 4 1,20
45x75 BK071045075 30 36 47 55 81 1302 58 126 76 6 M8x30 4 1,10
48x 80 BK071048080 30 36 47 55 86 1389 58 19 n 6 M8x30 4 1,30
50x 80 BK071050080 30 36 47 95 86 1447 58 14 n 6 M8x30 Al 110
55X 85 BK071055085 30 36 47 55 91 2124 7 138 89 8 M8x30 il 1,20
60x 90 BK071060090 30 36 47 55 96 2317 7 127 84 8 M8x30 #H 1,15
65X 95 BK071065095 30 36 47 55 101 2510 7 117 80 8 M8x30 4 1,40
70x110 BK071070110 40 46 57 67 116 4381 125 132 84 8 M10x35 83 2,50
75115 BK071075115 40 46 62 72 121 4694 125 123 80 8 M10x35 83 2,60
80x 120 BK071080120 40 46 62 72 126 5007 125 15 i 8 M10x35 83 2,80
85X 125 BK071085125 40 46 62 72 131 6651 156 136 92 10 M10x35 83 2,80
90x 130 BK071090130 40 46 62 72 136 7042 156 128 89 10 M10x35 83 3,00
95X 135 BK071095135 40 46 62 72 141 7433 156 121 85 10 M10x35 83 3,00
100 x 145 BK071100145 46 52 mn 89 151 9104 182 117 81 8 M12x45 145 5,50
110x 155 BK071110155 46 52 7 89 161 10015 182 106 75 8 M12x45 145 4,80
120 X 165 BK071120165 46 52 m 89 m 13653 228 122 88 10 M12x45 145 5,50
130x 180 BK071130180 46 52 7 89 186 177141 213 135 97 12 M12x45 145 6,00
140x 190 BK071140190 51 59 84 98 196 17328 248 102 75 8 M14x45 230 7,50
150 x 200 BK071150200 51 59 84 98 206 23207 309 19 89 10 Mi14x45 230 770
160x 210 BK071160210 51 59 84 98 216 24754 309 12 85 10 M14x45 230 8,00
170 x 225 BK071170225 51 59 84 9 231 31561 3n 126 95 12 M14x45 230 9,80
180 x 235 BK071180235 51 59 84 98 24 33417 3n 19 91 12 Mi14x45 230 9,80

004 www.schikibelting.com



MOVING YOU FORWARD,

LOCKING ASSEMBLIES SELF-CENTERING “BK 80” 5 SCHIKI
B

L3
)
. L1

Self-centering e
Medium-high twisting moments
Tolerances: shaft h8 - hub H8 = T
contact surfaces with roughness: Rt max 16 pm L% _J\
Concentricity error: 0.02 = 0.04 mm ]

. -] . al A
Short asserphly times Q o ) g 8 8 28
Narrow radial dimensions ( O
Low surface pressures :‘>/

o St

surface pressure Tightening screw
D2 DIN 912 Tightenin
mm torque axial force il ity 12,9 !:nrque :
Mt F ass. pw pn Ms
N/mm?>  N/mm? N type Nm

6x14 BK080006014 10 18,5 22,5 25,5 22 25 12 5 190 80 3 M3x10 2,2 0,05
8x15 BK080008015 12 21 24 28 25 28 39 10 299 199 4 M4x10 5,2 0,08
9x16 BK080009016 14 23 27 31 28 32 44 10 221 128 4 M4x12 5,2 0,08
10x 16 BK080010016 14 23 27 31 28 32 49 10 205 128 4 M4x12 5,2 0,08
1x18 BK080011018 14 23 27 31 30 34 53 10 186 14 4 M4x12 5,2 0,09
12x18 BK080012018 14 23 27 31 30 34 58 10 mn 14 4 M4x12 5,2 0,09
14x23 BK080014023 14 23 27 31 35 39 68 10 146 89 4 M4x12 5,2 0,20
15x24 BK080015024 16 29 36 42 40 45 120 16 196 123 4 M6x18 17 0,21
16x24 BK080016024 16 29 36 42 40 45 128 16 184 123 4 M6x18 17 0,23
17x 26 BK080017026 18 31 38 44 42 47 180 21 200 140 4 M6x18 17 0,25
18X 26 BK080018026 18 31 38 44 42 47 191 21 194 134 4 M6x18 17 0,27
19x27 BK080019027 18 31 38 44 43 48 202 21 183 129 4 M6x18 17 0,29
20x28 BK080020028 18 31 38 44 44 49 213 21 174 124 4 M6x18 17 0,30
22x32 BK080022032 25 38 45 51 48 54 234 21 14 8 4 M6x18 17 0,38
24x34 BK080024034 25 38 45 51 50 56 255 21 105 4 4 M6x18 17 0,41
25x34 BK080025034 25 38 45 51 50 56 266 21 100 I} 4 M6x18 17 0,35
28x39 BK080028039 25 38 45 51 95 61 313 21 12 81 5 M6x18 17 0,47
30x41 BK080030041 25 38 45 51 571 63 480 32 126 92 6 M6x18 17 0,48
32x43 BK080032043 30 43 50 56 59 65 51 32 98 13 6 M6x18 17 0,51
35x47 BK080035047 30 43 50 56 63 69 47 43 120 89 8 M6x18 17 0,60
38x50 BK080038050 30 43 50 56 66 /3 81 43 110 84 8 M6x18 17 0,67
40x53 BK080040053 32 45 52 58 69 75 959 48 10 83 9 M6x18 17 0,73
42x55 BK080042055 32 45 52 58 n 1 1007 48 105 80 9 M6x18 17 0,78
45x59 BK080045059 40 56 64 1 9 85 1781 ] 130 99 8 M8x22 42 1,23
48 x 62 BK080048062 40 56 64 2 82 88 1900 9 122 94 8 M8x22 42 1,24
50X 65 BK080050065 50 66 I 82 85 92 2473 99 " 90 10 M8x22 42 1,40
55x7 BK080055071 50 66 4 82 91 98 2721 99 106 82 10 M8x22 42 1,70
60x77 BK080060077 50 66 I} 82 97 104 2968 99 97 16 10 M8x22 42 1,76
65X 84 BK080065084 50 66 4 82 104 m 3215 99 90 69 10 M8x22 42 2,21
70x90 BK080070090 60 80 91 101 115 122 4430 127 89 69 8 M10x25 84 3,05
75x95 BK080075095 60 80 91 101 19 126 5338 142 93 4 9 M10x25 84 3,32
80x 100 BK080080100 65 85 96 106 124 131 7595 190 108 86 12 M10x25 84 3,50
85X 106 BK080085106 65 85 96 106 130 137 8069 190 101 81 12 M10x25 84 3,60

90 x 112 BK080090112 65 85 96 106 136 143 9968 222 12 90 14 M10x25 84 3,90
95x 120 BK080095120 65 85 96 106 144 153 10522 222 106 84 14 M10x25 84 4,40
100 x 125 BK080100125 65 89 102 14 153 162 13651 273 124 99 12 M12x30 145 4,60
110x 140 BK080110140 70 94 107 19 168 17 15016 2713 105 82 12 M12x30 145 8,70
120 x 155 BK080120155 90 14 127 139 185 195 21844 364 99 i 16 M12x30 145 10,70
130 x 165 BK080130165 90 14 127 139 195 205 23664 364 92 72 16 M12x30 145 11,30
140x 175 BK080140175 90 14 127 139 205 215 25485 364 85 68 16 M12x30 145 11,90
150 x 185 BK080150185 90 14 127 139 215 225 27305 364 80 64 16 M12x30 145 12,50

www.schikibelting.com 295



SCHIKI

MOVING YOU FORWARD.

LOCKING ASSEMBLIES - RIGID COUPLING “BK 95"

WA

L3
] i I
[ l_ [ - {7 [
=== i ]
Medium-high twisting moments b o
Tolerances: shaft hg < > - a
Contact surface with roughness: Rt max 16 pm <> o o O 8 1 T @
Quick assembly and disassembly
Suitable for rigid connection between two aligned shafts {4}% %7ﬁ S ——
o - H
]
L2
L1
L

surface pressure Tightening screw
torque axial force LI ﬂl:‘:g‘ ‘ “2:::::3“
Mt Fass. w
Nm KN ll/Il mm? type

17x50 BK095017050 56 50 16 44 179 21 166 4 M6x45 17 0,51
18x 50 BK095018050 56 50 16 44 190 21 157 4 M6x45 17 0,52
19x50 BK095019050 56 50 16 44 200 21 149 4 M6x45 17 0,50
20X 50 BK095020050 56 50 16 44 21 21 14 4 M6x45 17 0,50
24X 55 BK095024055 66 60 18,5 54 3718 32 144 6 M6X55 17 0,71
25X55 BK095025055 66 60 18,5 54 394 32 138 6 M6x55 17 0,69
28X 60 BK095028060 66 60 18,5 54 442 32 123 6 M6x55 17 0,81
30x60 BK095030060 66 60 18,5 54 473 32 115 6 M6x55 17 0,78
32x63 BK095032063 66 60 18,5 54 505 32 108 6 M6x55 17 0,85
35x75 BK095035075 83 75 22 67 682 39 98 4 M8x70 42 1,48
38x75 BK095038075 83 75 22 67 M 39 90 4 M8x70 42 1,45
4075 BK095040075 83 75 22 67 780 39 86 4 M8x70 42 1,40
42X78 BK095042078 83 75 22 67 819 39 82 4 M8x70 42 1,50
45X 85 BK095045085 93 85 245 76 1317 59 101 6 M8x80 42 2,03
48x90 BK095048090 93 85 245 76 1405 59 95 6 M8x80 42 2,24
50x 90 BK095050090 93 80 245 76 1463 59 91 6 M8x80 42 2,18
55x94 BK095055094 93 85 245 76 2141 8 10 8 M8x80 42 2,29

60x 100 BK095060100 93 85 245 716 2343 8 101 8 M8x80 42 2,52

65X 105 BK095065105 93 85 245 76 2538 8 93 8 M8x80 42 2,69

70x115 BK095070115 110 100 29 90 4321 123 116 8 M10x35 83 3,94

206 www.schikibelting.com



LOCKING ASSEMBLIES SELF-CENTERING “BK 10” 5 SCHIKI

MOVING YOU FORWARD,

L1 SW

Self-centering A i

Low torque

Tolerances: shaft h7 - hub H7 o (

Contact surfaces with roughness: Rt max 16 pm B o T
Quick assembly and disassembly %

Material: INOX

Serraggio

momento
torcente max

Tightening torque

4x8 BKSS010004008 15 12,5 8 3 M6x0,5 4 0,01
5x10 BKSS010005010 15 12,5 10 4 M8x0,5 5 0,01
6x10 BKSS010006010 15 12,5 10 7 M8x0,5 8 0,01

6,35x10 BKSS010635010 15 12,5 10 7 M8x0,5 8 0,01
7x12 BKSS010007012 15 12,0 12 8 M10x0,75 9 0,01
8x14 BKSS010008014 22 19,0 16 14 Mi2x1 15 0,02
9x14 BKSS010009014 22 19,0 16 14 Mi2x1 15 0,02

953x14 BKSS010953014 22 19,0 16 14 Mi2x1 15 0,02

10x17 BK$S$010010017 22 18,9 18 18 Mi5x1 19 0,03
1x17 BKSS010011017 22 18,5 18 18 M15x1 19 0,03
12x17 BKSS010012017 22 18,5 18 18 M15x1 19 0,03
14x20 BKSS010014020 28 23,0 20 24 Mi7x1 25 0,04
15x20 BKSS010015020 28 23,0 20 24 Mi7xt 25 0,04
15,88x 23 BKSS010158023 28 23,0 26 26 M20x1 21 0,05
16x23 BKSS010016023 28 23,0 26 26 M20x1 27 0,06
17x23 BKSS010017025 28 23,0 26 26 M20x1 27 0,05
19x25 BKSS010019025 28 23,0 27 29 M22x1 30 0,05
20x28 BKSS010020028 28 23,0 30 31 M25x1 32 0,07

www.schikibelting.com 297



SCHIKI

MOVING YOU FORWARD,

LOCKING ASSEMBLIES SELF-CENTERING “BK 30"

- WA

L1

self-centering {T H =
Medium-low twisting moments 73\] [—)
Tolerances: shaft h7 - hub H8

Mounting surfaces with roughness: Rt = 16 ym >
Concentricity error: 0.02 + 0.04 mm T - O
Quick assembly and disassembly

D1
ad
|
I
I
|
I
|
I
|
|
|
@D

Material: INOX

Tightening screw
DIN 912 Tightening
torque axial force S.S. torque

Mt Fass. Tae Ms

KN Nm
6x14 BKSS030006014 10 19,0 22,0 25 5 1,7 3 M3 12 0,03
8x15 BKSS030008015 12 215 25,5 27 17 44 3 M4 2,1 0,04
10x16 BKSS030010016 14 24,0 28,0 28 23 44 3 M4 2,1 0,05
12x18 BKSS030012018 14 25,5 29,5 30 27 44 3 M4 2,1 0,06
14x22 BKSS030014022 15 215 315 35 48 6,5 4 M4 2,1 0,08

298 www.schikibelting.com



LOCKING ASSEMBLIES NOT SELF-CENTERING “BK 40” 5 SCHIKI

MOVING YOU FORWARD,

B
L2
L1
Not self-centering = —r
s L= S=c=
Contact surfaces with roughness: Rt max 16 pm _ _
Quick disassembly O - a
q Aguide between shaft and hub is required to achieve > 8 S
good concentricity E%,
[Nl = Hd
Material: INOX
surface pressure Tightening screw
torque axial force Stiaft s ﬂl:‘:‘1 : Tn:::::;nu
mt Fass. w n Ms
Nm KN "/ll mm? N/I:nm2 . type Nm
20x 47 BKSS040020047 17 20 26 110 1,0 133 57 8 M6x18 8 0,23
22x47 BKSS040022047 17 20 26 120 1,0 121 57 8 M6x18 8 0,23
24 x50 BKSS040024050 17 20 26 150 12,0 125 60 9 M6x18 8 0,26
25X 50 BKSS040025050 17 20 26 195 12,0 120 60 9 M6x18 8 0,25
28x55 BKSS040028055 17 20 26 170 12,0 107 55 9 M6x18 8 0,30
30x55 BKSS040030055 17 20 26 185 12,0 100 95 9 M6x18 8 0,29
32x60 BKSS040032060 17 20 26 265 16,0 125 66 12 M6x18 8 0,34
35X 60 BKSS040035060 17 20 26 290 16,0 14 67 12 M6x18 8 0,32
38x65 BKSS040038065 17 20 26 390 20,0 131 i 15 M6x18 8 0,36
40X 65 BKSS040040065 17 20 26 410 20,0 125 i 15 M6x18 8 0,34
42X75 BKSS040042075 20 24 32 595 20,0 138 8 12 M8x22 18 0,60
45X75 BKSS040045075 20 24 32 635 28,0 129 8 12 M8x22 18 0,57
48X 80 BKSS040048080 20 24 32 680 28,0 121 3 12 M8x22 18 0,60
50X 80 BKSS040050080 20 24 32 700 28,0 116 3 12 M8x22 18 0,60

www.schikibelting.com 299



MOVING YOU FORWARD,

LOCKING ASSEMBLIES SELF-CENTERING “BK 61 5 SCHIKI
B
L2

Self-centering

Medium-high twisting moments

Tolerances: shaft h8 - hub H8

Contact surfaces with roughness: Rt max 16 pm

Concentricity error: 0.02mm < 0.04mm

Short assembly times

q During assembly, a slight axial displacement of the hub
with respect to the shaft may occur

2D

i
S N
#d

o
il

/
(1]

Material: INOX

surface pressure Tightening screw
torque axial force Stalt L lll:.:f : TI'::::::IU
Mt Fass. w n Ms
KN N/p mm? N/I:nm2 type Nm
6x16 BKSS061006016 1" 13,5 3 09 49 19 3 M2,5x10 0,5 0,01
1x17 BKSS061007017 1 13,5 3 09 42 17 3 M2,5x10 0,5 0,01
8x18 BKSS061008018 1 13,5 4 09 37 17 3 M2,5x10 05 0,02
9x20 BKSS061009020 13 15,5 6 1,2 37 17 4 M2,5x12 0,5 0,02
10x20 BKSS061010020 13 15,5 6 1,2 33 17 4 M2,5x12 0,5 0,02
12x22 BKSS061012022 13 15,5 1 1,2 26 15 4 M2,5x12 05 0,02
14X 26 BKSS061014026 17 20,0 13 19 28 15 4 M3x16 09 0,04
15x 28 BKSS061015028 17 20,0 14 19 26 14 4 M3x16 09 0,04
16 x 32 BKSS061016032 17 210 28 3,5 45 23 4 M4x16 2,2 0,07
17x 35 BKSS061017035 21 25,0 30 35 34 17 4 M4x20 2,2 0,09
18x 35 BKSS061018035 21 25,0 32 35 32 17 4 M4x20 2,2 0,09
19x 35 BKSS061019035 21 25,0 34 35 31 17 4 M4x20 2,2 0,08
20x38 BKSS061020038 21 26,0 55 55 45 24 4 Mb5x20 42 0,10
22x40 BKSS061022040 21 26,0 61 55 4 23 4 M5x20 42 0,11
24x47 BKSS061024047 26 32,0 96 8,0 44 23 4 M6x24 13 0,20
25x 47 BKSS061025047 26 32,0 100 8,0 43 23 4 M6x24 73 0,19
28x50 BKSS061028050 26 32,0 210 15,0 51 32 6 M6x24 13 0,22
30X 55 BKSS061030055 26 32,0 220 15,0 54 29 6 M6x24 13 0,27
32x 55 BKSS061032055 26 32,0 240 15,0 50 29 6 M6x24 73 0,25
35X 60 BKSS061035060 29 35,0 350 20,0 55 32 6 M6x28 13 0,36
38X 65 BKSS061038065 29 35,0 380 20,0 51 29 6 M6x28 13 0,43
40X 65 BKSS061040065 29 35,0 400 20,0 48 29 6 M6x28 73 0,40

300 www.schikibelting.com



MOVING YOU FORWARD,

LOCKING ASSEMBLIES SELF-CENTERING “BK 80” 5 SCHIKI
B

L3
. L1
Self-centering Ty
Medium-high twisting moments -
Tolerances: shaft h - hub H8 ﬁE: T
Contact surfaces with roughness: Rt max 16 pm LN J\_

Concentricity error: 0.02 + 0.04 mm
Short assembly times
Narrow radial dimensions

#D2
#d
D

[1]
i

AO

Low surface pressures f\

Material: INOX

surface pressure Tightening screw
torque axial force stiaft s ﬂl:.!: : "2:::::‘9
Mt Fass. w n Ms
Nm KN "/ﬂ mm? N/I:nm2 . type Nm
10x 16 BKSS080010016 14 27 31 29 22 40 82 51 4 M4x12 2 0,15
12x18 BKSS080012018 14 28 32 32 26 40 69 46 4 M4x12 2 0,18
14x23 BKSS080014023 14 28 32 38 30 40 59 36 4 M4x12 2 0,20
15x24 BKSS080015024 16 37 43 44 73 10,0 107 67 4 M6x18 8 0,31
16x24 BKSS080016024 16 37 43 44 8 10,0 101 67 4 M6x18 8 0,30
18x 26 BKSS080018026 18 39 45 4 87 10,0 9 55 4 M6x18 8 0,32
19x27 BKSS080019027 18 39 45 49 92 10,0 75 53 4 M6x18 8 0,35
20x 28 BKSS080020028 18 39 45 50 97 10,0 n 51 4 M6x18 8 0,36
22X 32 BKSS080022032 25 46 52 o4 105 10,0 47 32 4 M6x18 8 0,45
24x34 BKSS080024034 25 46 52 56 175 15,0 64 45 6 M6x18 8 0,48
25x34 BKSS080025034 25 46 52 56 180 15,0 62 45 6 M6x18 8 0,50
28x 39 BKSS080028039 25 46 52 61 200 15,0 59 40 6 M6x18 8 0,52
30x41 BKSS080030041 25 46 52 62 220 15,0 51 38 6 M6x18 8 0,52
32x43 BKSS080032043 25 46 52 65 310 19,0 64 48 8 M6x18 8 0,58
35x47 BKSS080035047 32 53 59 66 340 19,0 46 34 8 M6x18 8 0,69
38x50 BKSS080038050 32 53 59 el 370 19,0 42 32 8 M6x18 8 0,73
40X 53 BKSS080040053 32 53 59 75 390 19,0 40 30 8 M6x18 8 0,80
42 X595 BKSS080042055 32 53 59 8 410 19,0 39 29 8 M6x18 8 1,05
45x59 BKSS080045059 45 70 8 86 820 36,0 48 36 8 M8x22 18 1,40
48 %62 BKSS080048062 45 70 8 87 880 36,0 45 35 8 M8x22 18 1,50
50X 65 BKSS080050065 45 70 8 92 910 36,0 43 33 8 M8x22 18 1,60

www.schikibelting.com 301






SCHIKI

MOVING YOU FORWARD,

&
&»




SCHIKI

MOVING YOU FORWARD.

ADJUSTABLE MOTOR MOUNTING

WA

Description

. . . . A
The adjustable motor mountings solve the problem of the belt tension in the power transmission.
They are easy to assemble and allow adjustment of belt tension or disassembly without G G
removing the electric motor. The movement of the motor is controlled by a screw which is <H <H|
adjusted by a common key. ‘ ‘

J HJ
Material |
T ||

. . L : K

The adjustable motor mountings are in zinc plated steel, treatment that protects against

oxidation and corrosion. I S
: o= - ‘Hie

30

E min C

210 8210 210 195 33 100 43 70 20 2% 50 10,5 19 98 3 220
20 sL270 210 195 33 100 43 70 20 % 50 10,5 19 98 3 270
307 51307 307 213 33 100 85 70 20 % 50 105 19 108 3 3,30
340 51340 340 290 40 135 90 95 21 30 62,5 125 2 165 4 6,30
430 51430 430 290 40 135 90 95 21 30 62,5 125 2 165 4 740
490 51490 490 40 40 10 193 95 40 30 60 15,0 2 284 4 10,80
type\ Drive 63 n 80 90 100 112 132 160 180
210 10 58 45
20 £ 130 18 105 90 0 40

=
307 2 127 107 7
340 i 140 130 100 75
430 g 216 186 160 122
490 156 131

304 www.schikibelting.com



SCHIKI

MOVING YOU FORWARD,

&
&»




SHAFT COLLARS WITH SCREW DIN 705 - BLACK OXIDE

Material: Steel C-45

description

AB3

AB 4

ABS

AB 6

AB7

AB8

ABY

AB 10
AB 12
AB 14
AB 15
AB 16
AB17
AB18
AB20
AB 22
AB 25
AB 30
AB 35
AB 40
AB 45
AB 50
AB 55
AB 60
AB 65
ABT70
AB 80
AB 90
AB 100

306

code

AB003
AB004
AB005
AB006
AB007
ABO08
AB009
AB010
ABO12
ABO14
ABO15
AB016
ABO17
ABO18
AB020
AB022
AB025
AB030
AB035
AB040
AB045
AB050
AB055
AB0GO
AB0G5
AB070
AB080
AB090
AB100

type A

type

oo ® ™ > > @I > > > > > >I> > > @I> I> > > >I> >I> @I> I> > > > > > I

WA\

SCHIKI

MOVING YOU FORWARD.

A js14

Slotted set screws with cone point - DIN 553

]
mm
M2x3
M2,5x3
M3 x4
M4 x5
M4 x5
M4 X6
M5x8
M5X8
M6 X 8
M6 x8
MB X8
M6 X 8
M6 x8
M6 x8
M6 X 8
M6 x10
M8 X 10
M8 X 10
M8 x 12
M10X 16
M10X 16
M10x16
M10X 16
M10X 16
Mi10x 20
M10x 20
M12x 20
M12x 20
MI12x 25

@
E

C x45°
¢ Kg./100 pcs
mm
0,5 0,12
0,5 0,15
0,6 0,28
0,8 0,54
0,8 0,48
0,8 0,94
1,0 1,51
10 1,85
12 2,52
12 317
12 2,98
12 3,84
1,2 4,00
14 6,00
14 5,30
14 6,90
16 9,56
16 11,10
16 18,70
18 26,10
18 31,70
18 42,90
18 31,30
2,0 55,20
2,0 70,80
2,0 62,60
2,2 76,80
2,2 101,00
2,5 147,00

www.schikibelting.com



SHAFT COLLARS WITH ONE SIDE HUB - BLACK OXIDE

Material: Steel C-45

description

ABC 6

ABC 8

ABC 10
ABC 12
ABC 15
ABC 17
ABC 20
ABC 25
ABC 30
ABC 35
ABC 40

www.schikibelting.com

code

ABC006
ABC008
ABCO10
ABCO12
ABCO15
ABCO17
ABC020
ABC025
ABC030
ABC035
ABCO40

A-D

-

L) NJ

Sx45° _

—

WA

D1 '8

Slotted set screws with cone point - DIN 553

A B

mm mm

8 M4 x5
8 M4x6
10 M5x8
12 M6x8
12 M6x8
12 M6 x8
14 M6x8
16 M8 x10
16 M8 x10
16 M8 x12
18 MI0 X 16

=
_ w 8
A
!
e
A js14
c E
mm mm
06 8
08 10
08 13
08 15
10 18
10 20
10 24
10 29
12 34
12 39
12 4

SCHIKI

03
03
03
05
06
06
08
08
10
10
10

MOVING YOU FORWARD,

Kg./100 pcs

0,54
0,94
1,85
2,52
2,98
4,00
5,30
9,96
11,10
18,70
26,10

307



SHAFT COLLARS ONE SPLIT - BLACK OXIDE

Material: Steel C-45

description

ABR 4

ABRS

ABR 6

ABR8

ABR 10
ABR 12
ABR 14
ABR 15
ABR 16
ABR 18
ABR19
ABR 20
ABR 22
ABR 23
ABR 24
ABR 25
ABR 26
ABR 28
ABR 30
ABR 32
ABR 35
ABR 36
ABR 38
ABR 40
ABR 45
ABR 48
ABR 50
ABR 55
ABR 60
ABR70
ABR 80

308

code

ABRO04
ABRO05
ABRO0G
ABRO08
ABRO10
ABRO12
ABRO14
ABRO15
ABRO16
ABRO18
ABRO19
ABRO20
ABR0O22
ABR023
ABRO24
ABR025
ABR026
ABR028
ABRO30
ABRO32
ABRO35
ABRO36
ABRO38
ABRO40
ABR045
ABRO48
ABRO50
ABR055
ABRO6O
ABRO70
ABRO80

DIN 912
12.9

7T\ 2
= = 5 3

L)

\ Q[ | //

AN /

\\\3&| s
=T
C

de do A
)] mm mm
16 20,7 9
16 20,7 9
16 20,7 9
18 224 9
24 26,0 9
28 318 1
30 33,9 1
34 39,4 13
34 39,4 13
36 42 13
40 46,4 15
40 46,4 19
42 481 195
45 50,8 15
45 50,8 195
45 50,8 195
48 53,7 15
48 53,7 15
54 58,6 15
54 58,6 15
57 61,6 15
57 61,6 15
60 65,0 15
60 65,0 15
73 794 19
18 84,2 19
8 84,2 19
82 88,8 19
88 94,0 19
98 104,5 19
108 13,8 19

>

INSE

mm
M3x8
M3x8
M3x8
M3x8
M3x8
M4 x12
M4 x12
M5 Xx14
M5 Xx14
M5 x14
M6 x16
M6 x16
M6 x16
M6 Xx16
M6 x 16
M6 x16
M6 x18
M6 x18
M6x18
M6x18
M6 x18
M6x18
M6 x18
M6 x18
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25

&
& SCHIKI

MOVING YOU FORWARD.

mm Kg.

55 0,01
59 0,010
55 0,010
6,5 0,012
85 0,022
10,0 0,038
1,0 0,042
12,5 0,065
12,5 0,063
13,5 0,069
14,7 0,100
14,7 0,097
16,0 0,103
17,5 0,122
17,5 0,117
17,5 0,114
19,0 0,133
19,0 0,123
21,5 0,163
21,5 0,156
23,2 0,171

23,2 0,163
25,0 0,178
25,0 0,163
29,5 0,344
32,0 0,392
32,0 0,370
34,2 0,380
310 0,425
42,0 0,480
470 0,535

www.schikibelting.com



SHAFT COLLARS TWO SPLIT - BLACK OXIDE 5 SCHIKI

MOVING YOU FORWARD,

~
-~
~
\
& \
\
L /;
_//
/
v A
===‘f

D1 H8
de h13

K"
\

(DIN912> B T
12.9 A is14
C | C

Material: Steel C-45
description code n'::“ n[:?n I::]“ mAm mBm mcm Kg.
ABRR 4 ABRRO04 4 16 20,7 9 M3x8 55 0,01
ABRR 5 ABRRO0S 5 16 20,7 9 M3x8 55 0,011
ABRR 6 ABRRO0G 6 16 207 9 M3x8 5,5 0,010
ABRR 8 ABRRO08 8 18 22,4 9 M3x8 6,5 0,012
ABRR 10 ABRRO10 10 24 26,0 9 M3x8 85 0,024
ABRR 12 ABRRO12 12 28 318 1 M4 x12 10,0 0,039
ABRR 14 ABRRO14 14 30 339 1 M4 x12 1,0 0,043
ABRR 15 ABRRO15 15 34 394 13 M5 x 14 12,5 0,068
ABRR 16 ABRRO16 16 34 394 13 M5 X 14 12,56 0,065
ABRR 18 ABRRO18 18 36 41,2 13 M5 x14 13,5 0,01
ABRR 19 ABRRO19 19 40 46,4 15 M6 x 16 147 0,104
ABRR 20 ABRRO20 20 40 46,4 15 M6 x 16 14,1 0,101
ABRR 22 ABRRO22 22 42 481 15 M6 x16 16,0 0,107
ABRR 23 ABRR023 23 45 50,8 15 M6 x 16 175 0,127
ABRR 24 ABRRO24 24 45 50,8 15 M6 x 16 175 0,122
ABRR 25 ABRR025 25 45 50,8 15 M6 x16 17,5 0,120
ABRR 26 ABRRO26 26 48 53,7 15 M6 x18 19,0 0,139
ABRR 28 ABRR028 28 48 53,7 15 M6x18 19,0 0,128
ABRR 30 ABRRO30 30 54 58,6 15 M6x18 21,5 0,17
ABRR 32 ABRR032 32 54 58,6 15 M6 x18 215 0,161
ABRR 35 ABRRO3S 35 57 61,6 15 M6 x 18 23,2 0,172
ABRR 36 ABRRO036 36 57 61,6 15 M6x18 23,2 0,169
ABRR 38 ABRR038 38 60 65,0 15 M6 x18 25,0 0,183
ABRR 40 ABRRO40 40 60 65,0 15 M6 x18 25,0 0,172
ABRR 45 ABRR045 45 13 194 19 M8 x 25 29,5 0,360
ABRR 48 ABRR048 48 8 84,2 19 M8 x 25 32,0 0,414
ABRR 50 ABRRO50 50 8 84,2 19 M8 x 25 32,0 0,386
ABRR 55 ABRR055 55 82 88,8 19 M8 x 25 34,2 0,395
ABRR 60 ABRROG0 60 88 94,0 19 M8 x 25 37,0 0,440
ABRR70 ABRRO70 70 9 104,5 19 M8 x 25 42,0 0,495
ABRR 80 ABRRO80 80 108 13,8 19 M8 x 25 470 0,550

www.schikibelting.com 309



SHAFT COLLARS WITH SCREW DIN 705 - STAINLESS STEEL

Material: INOX AISI 304

description

AB 4
ABS
AB 6
AB7
AB8
ABY
AB 10
AB 12
AB 14
AB 15
AB 16
AB 17
AB18
AB 20
AB 22
AB 25
AB 30
AB 35
AB 40
AB 45
AB 50

310

code

SSAB004
SSAB00S
SSAB00G
SSAB007
SSAB008
SSAB009
SSAB010
SSABO12
SSABO14
SSAB01S
SSAB016
SSABO17
SSAB018
$SAB020
SSAB022
SSAB025
SSAB030
SSAB035
SSAB040
SSAB045
SSAB050

type

> > > > > > > > >I> > >> > > >I>» >>» > > > > > >

D1 H8

Slotted set screws with cone point - DIN 553 S.S.

o

=
I | N (0]
©

A
/.
C x45°
A Js14

A B
mm mm
5 M2,5x3
6 M3x 4
8 M4 x5
8 M4 x5
8 M4 x6
10 M5x 8
10 M5x8
12 M6 X8
12 M6 X8
12 M6x8
12 M6 X8
12 M6 X8
14 M6x8
14 M6 X8
14 M6 x10
16 M8x10
16 M8 x10
16 M8 x 12
18 M10x16
18 MI0x16
18 MI0Xx 16

SCHIKI

MOVING YOU FORWARD,

WA

o Kg./100 pes
05 0,15
06 0,28
08 0,54
08 0,48
08 0,94
1,0 1,51
10 1,85
12 2,52
12 317
12 2,98
12 384
12 4,00
14 6,00
14 5,30
14 6,90
16 9,56
16 1110
16 18,70
18 26,10
18 31,70
18 42,90

www.schikibelting.com



SHAFT COLLARS ONE SPLIT - STAINLESS STEEL 5 SCHIKI

MOVING YOU FORWARD,

e~

—
D1 H8
de h13

(DIN912)B i
S.S. A lst4
C

Material: INOX AISI 304
description code nl::n I‘::l I::]“ n:m mnm m[:“ Kg.
ABR 4 SSABRO04 4 16 20,7 9 M3x8 55 0,011
ABRS SSABRO0S 5 16 20,7 9 M3x8 55 0,010
ABR 6 SSABR006 6 16 20,7 9 M3x8 55 0,010
ABR 8 SSABROO8 8 18 224 9 M3x8 6,5 0,012
ABR 10 SSABRO10 10 24 26,0 9 M3x8 8,5 0,022
ABR 12 SSABRO12 12 28 318 1l M4 x 12 10,0 0,038
ABR 14 SSABRO14 14 30 339 1 M4 x12 10 0,042
ABR 15 SSABRO15 15 34 39,4 13 M5 X 14 12,5 0,065
ABR 16 SSABRO16 16 34 39,4 13 M5 x 14 12,5 0,063
ABR 18 SSABRO18 18 36 42 13 M5 x14 13,5 0,069
ABR 19 SSABR019 19 40 46,4 15 M6 X 16 14,7 0,100
ABR 20 SSABR020 20 40 48,4 15 M6 x 16 14,7 0,097
ABR 22 SSABRO22 22 42 481 19 M6 x16 16,0 0,103
ABR 23 SSABR023 23 45 50,8 15 M6 X 16 175 0,122
ABR 24 SSABRO24 24 45 50,8 15 M6 x 16 175 0,117
ABR 25 SSABR025 25 45 50,8 15 M6 x 16 175 0,114
ABR 26 SSABRO26 26 48 53,7 15 M6 x18 19,0 0,133
ABR 28 SSABR028 28 48 53,7 15 M6 x 18 19,0 0,123
ABR 30 SSABRO30 30 54 58,6 15 M6 x18 215 0,163
ABR 32 SSABR032 32 54 58,6 15 M6 x 18 215 0,156
ABR 35 SSABRO35 35 57 61,6 15 M6 x 18 23,2 0,171
ABR 36 SSABRO36 36 57 61,6 15 M6 x18 23,2 0,163
ABR 38 SSABR038 38 60 65,0 15 M6 x 18 25,0 0,178
ABR 40 SSABR040 40 60 65,0 15 M6 x18 25,0 0,163
ABR 45 SSABR045 45 3 194 19 M8 x 25 29,5 0,344
ABR 48 SSABR048 48 8 84,2 19 M8 x 25 32,0 0,392
ABR 50 SSABRO050 50 8 84,2 19 M8 x 25 32,0 0,370
ABR 55 SSABRO5S 55 82 88,8 19 M8 x 25 34,2 0,380
ABR 60 SSABROGO 60 88 94,0 19 M8 x 25 370 0,425
ABR70 SSABRO70 70 98 104,5 19 M8 x 25 42,0 0,480
ABR 80 SSABRO8O 80 108 113,8 19 M8 x 25 470 0,535

www.schikibelting.com 3n



SHAFT COLLARS TWO SPLIT - STAINLESS STEEL

Material: INOX AISI 304

description

ABRR 4

ABRR 5

ABRR 6

ABRR 8

ABRR 10
ABRR 12
ABRR 14
ABRR 15
ABRR 16
ABRR 18
ABRR 19
ABRR 20
ABRR 22
ABRR 23
ABRR 24
ABRR 25
ABRR 26
ABRR 28
ABRR 30
ABRR 32
ABRR 35
ABRR 36
ABRR 38
ABRR 40
ABRR 45
ABRR 48
ABRR 50
ABRR 55
ABRR 60
ABRR70
ABRR 80

312

SSABRR004
SSABRR00S
SSABRRO06
SSABRR008
SSABRRO10
SSABRRO12
SSABRRO14
SSABRRO15
SSABRRO16
SSABRRO18
SSABRRO19
SSABRR020
SSABRR022
SSABRR023
SSABRR024
SSABRR025
SSABRR026
SSABRR028
SSABRR030
SSABRR032
SSABRR035
SSABRRO36
SSABRRO38
SSABRR040
SSABRR045
SSABRR048
SSABRR050
SSABRR055
SSABRRO60
SSABRRO70
SSABRR080

DIN 912
S.S.

do
b
27 TN

/ ~T L -

/7 | | ¢ &

| = — | [m] o

N1l

\\ QE | )Vg/

N AT
~——
C C

de do A
mm mm mm
16 20,7 9
16 20,7 9
16 20,7 9
18 224 9
24 26,0 9
28 318 1
30 339 1
34 39,4 13
34 394 13
36 412 13
40 46,4 15
40 46,4 15
42 481 15
45 50,8 15
45 50,8 15
45 50,8 15
48 53,7 19
48 53,7 15
54 58,6 15
54 58,6 15
57 61,6 15
57 61,6 15
60 65,0 15
60 65,0 15
73 194 19
18 84,2 19
18 84,2 19
82 88,8 19
88 94,0 19
98 104,5 19
108 113,8 19

s

js14

mm
M3x8
M3x8
M3x8
M3x8
M3x8
M4 x12
M4 x12
M5 Xx14
M5 x14
M5 x14
M6 x 16
M6 x16
M6 X 16
M6 x16
M6 x 16
M6 x16
M6x18
M6 x18
M6x18
M6x18
M6 x18
M6x18
M6x18
M6 x18
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25

&
p SCHIKI

MOVING YOU FORWARD,

o Kg.
5,5 0,011
5,5 0,011
55 0,010
6,5 0,012
85 0,024
10,0 0,039
1,0 0,043
125 0,068
125 0,065
135 0,071
147 0,104
147 0,101
16,0 0,107
175 0,127
175 0,122
175 0,120
19,0 0,139
19,0 028
2,5 0,171
2,5 0,161
23,2 0,172
23,2 0,169
25,0 0,183
25,0 0,172
29,5 0,360
32,0 0,414
32,0 0,386
342 0,395
370 0,440
420 0,495
470 0,550

www.schikibelting.com



